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Question Number : 1 Question Id : 1034351415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the words in the meaningful sequence:-

1. Flower, 2. Plant, 3. Fruit, 4. Seed, 5. Soil
Options :

1. % 1,2,5,4,3

2.% 1,3,5,4,2

3.95,2,1,3,4

4. % 3,2,4,5,1

Question Number : 1 Question Id : 1034351415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T &) Grfes S H TafRid &v:-

1. Td, 2. U1, 3. 5, 4. i, 5. 7l
Options :

1. % 1,2,5,4,3

2. % 1,3,5,4,2

3.5,2,1,3,4

4.% 3,245, 1

Question Number : 2 Question Id : 1034351416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the next term in the series.

BKD, DMA, FPX, ?
Options :
1. ¥ FDA
2. % HTU
3. ¥ HUR
4. % ADF

Question Number : 2 Question Id : 1034351416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T ST UG 7 D -

BKD, DMA, FPX, ?
Options :

1. % FDA

2. % HTU

3. ¥ HUR



4. % ADF

Question Number : 3 Question Id : 1034351417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Optimist - Pessimist

2. # Protagonist - Antagonist
3. % Confident - Assertive

4. ¥ Abundant - Scare

Question Number : 3 Question Id : 1034351417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e fywedt & § I v iR 8% T g B 1 graifes, T fdshen 3/ ofiF 1 avg T8 81 3 fadhey &1 9a= &3 o 3T 3T g
Options :

1. % 3{TRIrard] - FRT=Imard!

2. % fgamad - farieh

3. ¢ Iy - Rygds

4. % TR - ST

Question Number : 4 Question Id : 1034351418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ Maize

2. ¥ Pearl millet
3. ® Qats



4. ¥ Bamboo

Question Number : 4 Question Id : 1034351418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e fawed & 9 & Te Y dRid 3 90 § | 8TalD, Th [Aded 31 d1H &1 dve ol ¢ | 34 [dded &1 78 B oIl 37 4 3T 5|
Options :

1. % Hdbl

2. % 9o

3. % T

4.« 919

Question Number : 5 Question Id : 1034351419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related to each other in the same manner as the given pair is related to each other.

Day : Minutes :: ?
Options :

1. * Watch : Time

2. ¥ Circle : Degrees

3. * Month : Year

4. % Square : Right angles

Question Number : 5 Question Id : 1034351419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS BT T B Sl T gER A I UHR I Faiferd g Ford TR &1 778 el U gak ¥ efid ]
e . fime 9

Options :
1. % 931 . gHg



2.*’@?‘[:%‘5‘7
3.5314_@?[:3'5?
4, % I . JHPIT

Question Number : 6 Question Id : 1034351420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code if KEYBOARD is written as DYEOBRAK, then ORDINARY will be written as:
Options :

1. ¥ YDRNIRAO

2. % ROIDANYR

3. ¥ DRONIYRA

4. % IDROYRAN

Question Number : 6 Question Id : 1034351420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Y ®Ig H afd KEYBOARD &1 DYEOBRAK & U H for@T 71 8, df ORDINARY 1 foram Sra:
Options :

1. ¥ YDRNIRAO

2. % ROIDANYR

3. #* DRONIYRA

4. % IDROYRAN

Question Number : 7 Question Id : 1034351421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A particular shopkeeper uses the code name “LSOAPIGE” with a value 36 where L= Rs.3,S= Rs. 4, O=Rs. 5 and so on. Which item is sold for
Rs.28 in the shop?

Options :
1. % SOAP
2. % OIL



3. ¥ EGG
4. * GEL

Question Number : 7 Question Id : 1034351421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T faRIY GHMER 36 AF & 1Y "LSOAPIGE" IS ATH BT UL HRdl 8, ST L = 3 ¥UT, S = 4 BUT, O = 5 BUT 3R AN | gHH H B
T a¥g 28 ¥UT H fawmdl g2

Options :

1. # SOAP

2. % OIL

3. ¥ EGG

4. % GEL

Question Number : 8 Question Id : 1034351422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class, Karambir got more marks than Kiran and Karan got more marks than Kamaljeet and Kamalpreet. Karan and Kiran got equal marks.
Who among the following scored highest ?

Options :

1. # Kamalpreet
2. % Karambir
3. % Kamaljeet

4. * Kiran

Question Number : 8 Question Id : 1034351422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS P& H, HIHSR Bl fH01 F 34 3icp I 3R B0 bl HHIT IR HHTHIT F 31w 3ich it | BT 31 fovur ) gAM 3icp it |
fFafaRed | ¥ foou S=dq sid U fhu?

Options :

1. % HHAYT




2. ¥ HIHGR
3. ®% HHTOI
4, % T30

Question Number : 9 Question Id : 1034351423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tina, Meena, Sameena, Amina, Leena and Reena are sitting around a circle facing the centre under the following conditions:

1. Reena is sitting second to the left of Tina who lies at the immediate right of Meena.
2. Amina is facing Tina and Leena is not facing Meena.

Who is second to the right of Tina?
Options :

1. # Leena

2. ¥ Sameena

3. % Meena

4. % Reena

Question Number : 9 Question Id : 1034351423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1, FT, T, ST, ot 3R O Fafeifed uRfRufadl & U o & RT3k g &1 3R J@ b §d1 8

1. 391, AT % UV T RE R 9T R N HAT S S U A 9T B
2. 3T T I T Bt 3R § 3R <1 7 g HiF T bt iR 8T &

ST & T W R R R B 82
Options :

1. % o

2. ¥ AT

3. % W

4. % I



Question Number : 10 Question Id : 1034351424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, an assertion is given, followed by a reason. You have to decide whether the assertion is true, reason is true or both
are true and if the reason is the correct explanation of the assertion.

Assertion- UN calls to halt eviction of one lakh residents of Haryana Khori village.
Reason- UN is the organisation which works on creating wars between the nations.

Options :

1. ¥ Assertion is true, reason is false

2. % Assertion is false, reason is true

3. # Both assertion and reason are true, reason is the correct explanation of the assertion

4. ® Both assertion and reason are true, reason is not the correct explanation of the assertion

Question Number : 10 Question Id : 1034351424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T uy ¥t ifiemy= four a1 3, ITd dg U SR ST a1 3 | 3TUHh! g a9 B & [ &1 SHfNBYT I §, SR T § T
3H g § 3R afe BRI, 3By &1 T8 AR ¢ |

3HfYHYA- UN = gRATm Wk} i & U g FaiRidl ol dg@d o+ I A o1 Mg [

HRUL- UN 98 IS g Sl UPT & ofd Geg I B IR HTH Bl 5|
Options :

1. ¢ AfUBYT II g, PRI T &

2. % fHBYT 3T 8, PRV T &

3. % AfHYT 3R HRUI G Id §, PRU HYF B! Jg! TS §

4. % YHYT 3R RO GHI I §, BRI HYT P T8t ARSAT T8l §

Question Number : 11 Question Id : 1034351425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the question given below, a statement is given, followed by two arguments I and II. You have to consider the statement to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given arguments is strong.

Statement- Government of a certain overpopulated poor country introduced a population bill where people having more than 2 children will not
be given government privileges and further promotion in their current jobs.

Argument - Yes, it is one disincentive to discourage couples from giving birth to many children.
Argument II- No, these kind of pressure tactics should not be used as this is the mutual decision between a married couple.

Options :

1. * Only argument I is strong
2. % Only argument II is strong
3. # Neither I nor II is strong

4. ¥ Both arguments are strong

Question Number : 11 Question Id : 1034351425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T R Uy & v Sy fen T g, o a1 &1 ddh 1 3R 11 AU U § | 31! S HU &l I AT 8, ¥l 81 I8 THI=Ia: 1 a2
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HYF- T Y i E® TR ¢ B WMBHR A SIS [A9us U fhar, Sigi 2 T 31fYe T=d ara Anll o IRBRT [ARWIGR 8!
faT ST 3R 3! Iaa BRI & M Uil T8t < Syt

I - 8T, THfd 1 B3 S B o7 F o T galdTed BT FAoTg B
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Options :

1. % $9d do [ Ao §

2. % Had db 11 AoISd §

3.% AA1TRAE 1 T99d §

4. G A AoI9d &

Question Number : 12 Question Id : 1034351426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is related to the third term on the same basis as the second term is related to the first term.

17:272::14:7?
Options :
1. #® 791
2. % 221
3.9 182
4. % 197

Question Number : 12 Question Id : 1034351426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § o TR J g¥R1 S Ugd Ue § Yefid g

17:272::14:7
Options :
1. % 791
2. % 221
3.9 182
4. % 197

Question Number : 13 Question Id : 1034351427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number.

975,319,753,
Options :
1. % 213
2. % 159
3. % 179
4.+ 197



Question Number : 13 Question Id : 1034351427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
975, 319, 753,

Options :

1. #= 213

2. % 159

3. % 179
4.9 197

Question Number : 14 Question Id : 1034351428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following represents the combination between Police (P), Thief (T), Criminal (C) ?
Options :



3. ¢

Question Number : 14 Question Id : 1034351428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafead & @ &9 91 g (), IR (1), sroRielt (0) & st FaeH &1 ufafAfia Har g2

Options :



3. ¢

Question Number : 15 Question Id : 1034351429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two friends A and B started walking from the same point in the different directions. A turns 90 degrees clockwise and B turns 90 degrees
anticlockwise after which both comes in the same direction that is east. What can be their initial positions?

Options :

1. # East and North
2. ¥ North and South
3. % West and South
4. % North and West

Question Number : 15 Question Id : 1034351429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 7 A 3R B U €1 fog @ fafta fommait & a1 3= ovd €1 A 90 &3 gfmomad gear ® ik B 90 f&3f ammad gsar § foraes are gHt
T & fe=n o o17d § ST gd &1 3R g | 31! URfies Rufd 31 81 Iahell 82

Options :

1. # gd 3R IR

2. ¢ IR 3R Eferor

3. % Uf3y 3R gfemr




4. % IR AR Ui

Question Number : 16 Question Id : 1034351430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man started walking from his house 9m in north direction and then turned to east and walked another 40m. How far he is from his starting
point?

Options :
1. * 3lm
2.¥ 4l m
3. % 35m
4. % 42 m

Question Number : 16 Question Id : 1034351430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Afd 3T TR I IR M H 9m T J& Rl g 3R R gd & 3R YSa1 8 3R 40m Tadl 81 I8 3 3R fig J fratt gr 82
Options :

1. % 3lm

2.¥ 4l m

3. % 35m

4. % 42 m

Question Number : 17 Question Id : 1034351431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure would complete the question figure?



N
?
1
Options :
1
4
]

4. %

Question Number : 17 Question Id : 1034351431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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N
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Options :

1

4




Question Number : 18 Question Id : 1034351432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :



Question Number : 18 Question Id : 1034351432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T Riwedl A @ & e Rfya % T TuE 81 5TlTP, T faeed 3 diF ot oRE Tl ¢ | 39 fdhed &1 I8 &Y oY 30 ¥ 3T B

Options :




Question Number : 19 Question Id : 1034351433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following correctly represents the exact Mirror image of this question figure?

Options :



Question Number : 19 Question Id : 1034351433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifead o ¥ 19 59 U 3 fa 1 T Ul Bfa &1 T8t ufafifea sxar g2

Options :



3.¢

Question Number : 20 Question Id : 1034351434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose we use different colours to paint the triangles in the given figure in such a way that no two colours will overlap, then what is the
maximum number of colours needed?



Options :
1. * 10
2.9 8
3. % 12
4. % 14

Question Number : 20 Question Id : 1034351434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A SifoTe fob g9 <1 713 siigpfal & Ryt &1 3 & T S1eT-S1eT i 61 39 die ¥ SUANT HRd ¢ 1o dis U &l T IREReATs = 8, df
3By foa TN D1 I HdT gl

Options :
1. * 10
2.9 8
3. % 12
4. % 14



General Awareness

Group Number : 2

Group Id : 10343574
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness

Section Id : 10343574
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343588
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 1034351435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The shape of the main temple tower is known as in Tamil Nadu.
Options :

1. ¥ Vimana

2. % Garbh



3. # Bahya
4. # Choti

Question Number : 21 Question Id : 1034351435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e g H g AR HHR & SHR Bl % = H ST ST |
Options :

1. ¢ faume

2. % MY

3. % dgdl

4. % et

Question Number : 22 Question Id : 1034351436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Theravada, Mahayana and Vajrayana are three main classifications of

Options :

1. # Sikh Doctrine

2. % Persian Writings
3. % Jain Doctrine

4. % Buddhist Doctrine

Question Number : 22 Question Id : 1034351436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AgTe, HETIT 3R I9rd™ & < - TNl g |
Options :

1. % g Rygid

2. % BRI AEA

3. % o Rygid




4. ¥ S Rrgid

Question Number : 23 Question Id : 1034351437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Reserve Bank of India established?
Options :

1. % 1947

2. % 1949

3.9 1935

4. % 1934

Question Number : 23 Question Id : 1034351437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRT Rord d &) R e g3 o
Options :
1. % 1947
2. % 1949
3.9 1935
4. % 1934

Question Number : 24 Question Id : 1034351438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Paid out cost is of production in micro economics.
Options :

1. ¥ explicit cost
2. # cost per unit
3. # tax

4. # implicit cost



Question Number : 24 Question Id : 1034351438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Bt 115 ARTd 1S SR § ST &1 gl
Options :

1. ¢ ¥ dlTd

2. % Yl gpbTg ARTA

3. % M

4. % {4fgd dMTd

Question Number : 25 Question Id : 1034351439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the hardest natural occurring substance found on Earth?
Options :

1. ¥ Aluminium

2. % Diamond

3. % TIron

4. % Gold

Question Number : 25 Question Id : 1034351439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 &9 91 gdt IR U S ard 999 HoR Widbide uerd g2
Options :

1. ® Tegiafay

2. ¥ BRI

3. % gl

4. % I

Question Number : 26 Question Id : 1034351440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what form are carbohydrates stored in plants?
Options :

1. # Maltose

2. # Lactose

3. % Glucose

4. ¥ Starch

Question Number : 26 Question Id : 1034351440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et 7 praferssc fbw w0 7 IR 81a 82
Options :

1. % Aleerg

2. % Qe

3. % TqDlal

4. €

Question Number : 27 Question Id : 1034351441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following metal is soft and can be cut with a knife?
Options :

1. # Zinc

2. % Lead

3. ¥ Potassium

4. ¥ Nickel

Question Number : 27 Question Id : 1034351441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafoiaa # o9 91 U1 RA § 3R 32 91 T PIeT o Tehdl &2
Options :

1. # SRl

2. %

3. ¢ UleRrH

4. % [AHd

Question Number : 28 Question Id : 1034351442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The chemical processes responsible for decomposition of rocks with the help of water and atmospheric gases is called
Options :

1. ¥ chemical weathering
2. # decomposition

3. % erosion

4. % hydrolysis

Question Number : 28 Question Id : 1034351442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 3R IrgHSHg 191 @) Heg ¥ TgMI & 3ueed & forg SifeR I ufsarst & HEI T g |
Options :

1. ¢ IS 3U&d

2. % 3UYcH

3. % Mg

4. % S fageiwor

Question Number : 29 Question Id : 1034351443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The radius of the Earth's Core is about:



Options :

1. % 3100 km
2. % 3200 km
3. ¥ 3500 km
4. % 3000 km

Question Number : 29 Question Id : 1034351443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tt & IS B BT THT B

Options :

1. * 3100 km

2. * 3200 km

3. % 3500 km

4. % 3000 km

Question Number : 30 Question Id : 1034351444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which date did Bhagat Singh and Batukeshwar Dutt threw bombs in Central Legislative Assembly?
Options :

1. ¥ 8 April, 1929

2. % 30 January, 1929

3. ¥ 23 March, 1931

4. % 22 August, 1922

Question Number : 30 Question Id : 1034351444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i1 Rig 3R S¢haR 37 7 f5 g arte &1 Sl ey gur & 99 % 2

Options :

1. ¢ 8§ 30, 1929



2. % 30 SR, 1929
3. % 23 A, 1931
4. % 22 3, 1922

Question Number : 31 Question Id : 1034351445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was Poona Pact signed?

Options :

1. ¥ 1932

2. %1930

3. % 1931

4. % 1929

Question Number : 31 Question Id : 1034351445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QU GHSIIAT IR §KI&R e fbT 7T A2
Options :

1. ¥ 1932

2. % 1930

3. % 1931

4. % 1929

Question Number : 32 Question Id : 1034351446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From which place did Dandi march start?
Options :

1. # Poona

2. # Dandi



3. ¥ Ahmedabad
4. ¥ Bombay

Question Number : 32 Question Id : 1034351446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Giel AT frd RM A g gs A
Options :

1. % gu

2. % el

3. ¢ 3gHcldlg

4. % §id

Question Number : 33 Question Id : 1034351447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Princely State of was founded around 1724 when Mir Qamar-ud-Din, the Mughal Viceroy of the Deccan, assumed
independence under the title of Asaf Jah.

Options :

1. # Baroda

2. % Gwalior
3. % Hyderabad
4. ¥ Junagadh

Question Number : 33 Question Id : 1034351447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
D! RO 1 RATTAT 1724 & U g8 A 510 Gah & T AR, HR HHR-3G-GH o TP ST ! JUTY & dgd Waadl
U BT T
Options :
1. % galal
2. % IR




3. ¢ BERIEIG
4, Q:i e

Question Number : 34 Question Id : 1034351448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bharat Ratna awardee 'C. N. R. Rao' belongs to the field of:
Options :

1. # Physics

2. ¥ Chemistry

3. # Biology

4. # Literature

Question Number : 34 Question Id : 1034351448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR I Y FHI . T, 3R, 19 fovd &1 § Haifdrd 52
Options :

1. % Hifqa!

2. ¢ 4 fag

3. % Giiqfdy

4. % g

Question Number : 35 Question Id : 1034351449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the writer of the book "The story of my experiments with truth"?
Options :

1. ¥ Raja Ram Mohan Roy

2. % Swami Vivekananda

3. ¥ Rabindra Nath Tagore



4. ¥ Mahatma Gandhi

Question Number : 35 Question Id : 1034351449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafemed & 9 o e ©R 3iith AT TouRHcH e gu" T & oEd 82
Options :

1. % TSl IH g I

2. % W fddsHg

3. % g1y IR

4.« HGIAT TMiE

Question Number : 36 Question Id : 1034351450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many Fundamental Rights are listed in Indian Constitution?
Options :

1.¥6

2. % 7

3.% 8

4. %5

Question Number : 36 Question Id : 1034351450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem Mifere SR URdTg Wiy & THieg 82
Options :

1.¥6

2. % 7

3.% 8

4, % 5



Question Number : 37 Question Id : 1034351451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 86th Amendments of the Indian constitution is about
Options :

1. % Right to property

2. ¥ Right to Education

3. # Right to equality

4. ® Right to religious freedom

Question Number : 37 Question Id : 1034351451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRTT HAeT™ &1 86at A—Mem HFIRARI
Options :

1. % Ufxy &1 SHfIpR

2. ¢ TRI&T BT 3MfTBPR

3. ® A BT YDBR

4. % YTfHics WA= B SHADBR

Question Number : 38 Question Id : 1034351452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the highest active goal scorer in football as of July 2021?
Options :

1. # Luis Suarez

2. # Pele

3. % Cristiano Ronaldo

4. # Lionel Messi

Question Number : 38 Question Id : 1034351452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Jdls 2021 96 Feaid § gaifie Tfaed Md B ara ! &1 g2
Options :

1. % o9 Y3l

2. % Ud

3. ¢ fopfReam i RATeS!

4. % forga ot

Question Number : 39 Question Id : 1034351453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many oath takers were there during the opening ceremony in 2020 Tokyo Olympics ?
Options :

1. % 10

2.%3

3.%5

4.9 6

Question Number : 39 Question Id : 1034351453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 ST et & IguTe ARIE & SR fdhd- [y 4 ardt A9
Options :

1. * 10

2.%3

3.%5

4.9 6

Question Number : 40 Question Id : 1034351454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a kho-kho match, how many players from each team take the field?
Options :

1.¥9

2. % 11

3.%6

4. % 8

Question Number : 40 Question Id : 1034351454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

-9 79 1, UdS & & fbar Rdrst AaH # Iard 82

Options :
1.¥9
2. % 11
3.% 6
4. % 8

Arithmetic Ability
Group Number : 3
Group Id : 10343575
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability



Section Id : 10343575

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343589
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 1034351455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What must be added to the product of 0.7504 and 0.9887 to make it equal to unity?
Options :

1. # 0.304

2. % 0.226

3. % 0.286

4.+ 0.258

Question Number : 41 Question Id : 1034351455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.7504 3R 0.9887 & TUHHT B IHI5 b SRISR T b (o718 ITH FT SIST ST A2
Options :

1. % 0.304

2. % 0.226

3. % 0.286

4.9 0.258




Question Number : 42 Question Id : 1034351456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of (3.03 x 3.03 x 3.03 - 0.03 x 0.03 x 0.03) + (3.03 x 3.03 + 0.03 x 3.03 + 0.03 x 0.03) is:
Options :

1. % 3.03

2.¥ 3

3. % 0.03

4. # 3.003

Question Number : 42 Question Id : 1034351456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(3.03 x 3.03 x3.03-0.03 x0.03 x0.03) +(3.03 x 3.03 + 0.03 x 3.03 + 0.03 x 0.03) WIIFT%:
Options :

1. ® 3.03

2.¥3

3. % 0.03

4. % 3.003

Question Number : 43 Question Id : 1034351457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much will be the average of the squares of natural numbers from 1 to 507
Options :

1. % 888.5

2. % 895.85

3. ¥ 858.5

4. % 925.6

Question Number : 43 Question Id : 1034351457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

1 9 50 I UTp T ST & Gl b S foa1 g2
Options :

1. ® 888.5

2. % 895.85

3. ¥ 858.5

4. % 925.6

Question Number : 44 Question Id : 1034351458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of the two-digit numbers, which remain the same when the digits interchange their positions, is:
Options :

1. % 33

2. % 44

3.¥ 55

4. % 66

Question Number : 44 Question Id : 1034351458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31-3iPTY THT3N BT 3, S 3ieh| &b I FGa- IR UM I8dT .98 o
Options :

1. % 33

2. % 44

3.9 55

4. % 66

Question Number : 45 Question Id : 1034351459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Evaluate:



28% of 450 + 45% of 280
Options :
1. * 289
2. % 350
3. % 284
4. ¥ 252

Question Number : 45 Question Id : 1034351459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T BY:

450 DhT 28% + 280 DI 45%

Options :

1. # 289

2. % 350

3. % 284
4,9 252

Question Number : 46 Question Id : 1034351460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If number x is 5% less than another number y and y is 5% more than 25, then find out the value of x.
Options :

1. % 25.5625

2. % 26.25

3. ¥ 24,9375

4. % 25175

Question Number : 46 Question Id : 1034351460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e T x T WA y T 5% HH & AR y, 25 F 5% 3 g, Ol x BT A F1d DY
Options :

1. ® 25.5625

2. % 26.25

3. ¥ 24,9375

4. % 25175

Question Number : 47 Question Id : 1034351461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After getting two successive discounts Shreya got a shirt at Rs. 204 whose marked price is Rs. 300. If the second discount is 15% find the first
discount.

Options :
1. % 12.5%
2. % 15%
3. % 10%
4. 20%

Question Number : 47 Question Id : 1034351461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l HHP e UM & 918 99T P Tdb HHIN 204 $UY H e foraesT sifdrd Jed 300 $UT &1 TS GIRI BE 15% © df Ugal Be Jd dr|
Options :

1. % 12.5%

2. % 15%

3. % 10%

4.9 20%

Question Number : 48 Question Id : 1034351462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A grocer sells rice at a profit of 15% and uses a weight which is 20% less. Find his total percentage gain.
Options :

1. ® 45%

2. % 41.25%

3. % 42.5%

4. % 43.75%

Question Number : 48 Question Id : 1034351462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T [T AMURT 15% & ATH TR I190 99dT & 31 aoT BT START BT § Sl 20% HH & | 3BT Hd Wia=id ary J1d B
Options :

1. ® 45%

2. % 41.25%

3. % 42.5%

4. % 43.75%

Question Number : 49 Question Id : 1034351463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The third proportional to 16 and 64 is
Options :
1. ¥ 256
2. % 196
3. % 324
4. % 206

Question Number : 49 Question Id : 1034351463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

16 3TR 64 T TTRIRT FHIIUTA gl

Options :



1. ¥ 256
2. % 196
3. % 324
4. = 296

Question Number : 50 Question Id : 1034351464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ratio between two numbers is 5 : 6. If their HCF is 8, then the larger number is

Options :
1. ® 40
2.9 48
3. % 44
4. % 54

Question Number : 50 Question Id : 1034351464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS BT UG 5 : 6 § | TG ST HeaH THIIAAD & §, ) do! T gl
Options :

1. % 40

2.9 48

3. % 44

4. % 54

Question Number : 51 Question Id : 1034351465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What sum of money will produce Rs.50 as simple interest in 4 years at 2.5 percent?
Options :

1. ¥ Rs 500

2. % Rs 600



3. % Rs 550
4. % Rs 650

Question Number : 51 Question Id : 1034351465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T YRR 2.5 TIARIT BT &G H 4 I H YR AT P 9 H 50 SUT T 51?2
Options :

1. ¥ 500 ¥4UUQ

2. % 600 %497

3. % 550 %0

4. % 650U

Question Number : 52 Question Id : 1034351466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 500 amounts to Rs. 620 in 4 years at x% per year. What will it amount to if the rate of interest increased to (x + 2)% per year?
Options :

1. % 650

2. % 660

3. % 680

4, % 685

Question Number : 52 Question Id : 1034351466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

500 BT DI &-RI U T x% TR 4 T H 620 TYT &b SRIER 81 ST & | TS ST BT R Tgb Ufd a8 (x + 2)% 81 SN df T8 Y-RIT forea
& SRISR I

Options :

1. # 650

2. ¥ 660




3. % 680
4. %= 685

Question Number : 53 Question Id : 1034351467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what time will a railway train 120 m long moving at the rate of 36 kmph pass a telegraph post on its way?
Options :

1. * 10s

2. % 14s

3.9 12s

4. % 8s

Question Number : 53 Question Id : 1034351467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

36 kmph 1 7T ¥ T X1 120 m Tl XeTS! fa 0T H 304 IR H TR BT ™ DI IR B2
Options :

1. # 10s

2. % 14s

3.9 12s

4. % 8s

Question Number : 54 Question Id : 1034351468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sushanth covers a distance by walking for 6 hours while returning his speed decreases by 1km/hr and he takes 8 hours to covers the same
distance. What was his speed while returning?

Options :

1. * 2 km/hr
2. ¥ 3 km/hr
3. % 5 km/hr



4. *= 8 km/hr

Question Number : 54 Question Id : 1034351468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R 6 ° TP T g3l a9 BT &, STaich aTuy 3MTd T ST 1 1km/hr T HH 81 ST € 3R I8 I g2 P g HA | 8 S Bl
Y a1 § | AT 31Td THY 39! T1fd & 2t

Options :

1. # 2 km/hr

2. % 3 km/hr

3. % 5 km/hr

4. # 8 km/hr

Question Number : 55 Question Id : 1034351469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A does half as much work as B in three — fourth of the time if together they take 18 days to complete a work. How much time shall B take to do
it?

Options :

1. ¥ 30 days

2. # 35 days

3. % 40 days

4. % 45 days

Question Number : 55 Question Id : 1034351469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,Eﬂ:r%zn's‘mﬁBm%qwﬁwaﬂwmm%aﬁawmuwmaﬁtmwﬁﬁ18%‘4@%% B &I 38 & H T
TG T
Options :

1.¢30feT
2. % 35729



3. % 40faq
4. % 45feq

Question Number : 56 Question Id : 1034351470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 Children and 12 men complete a certain piece of work in 9 days. If each child takes twice the time taken by man to finish the work. In how
many days will 12 men finish the same work?

Options :

1. # 8 days
2. % 15 days
3. # 9 days
4. % 12 days

Question Number : 56 Question Id : 1034351470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 T 3R 12 T3V FAfdd &1 &1 9 & & 1 v § | Al U Sl 1d @H Hovl H G0N gRT o 78 99 ¥ & 1 98 A 6 12
sﬁwﬁ%%ﬁﬁwaﬁﬁ? IN = s =
Options :

1. % gfed

2. % 15f3A

3. % 9fdq

4.¢ 12163

Question Number : 57 Question Id : 1034351471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid consists of a circular cylinder with an exact fitting right circular cone placed on the top. The height of the cone is h cm. If the total
volume of the solid is three times the volume of the cone then the height of the cylinder is cm.

Options :
1. # 2h



2. % 4h
3. ¥ 2h/3
4. % 3h/2

Question Number : 57 Question Id : 1034351471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 319 H MR o7 & o 2 R e b arar dd MaeR WF 8| UH Bt SHaAE hem 81 (S 319 BT Hd 3T UH &
3T &1 I AT § Al S0 D1 Sdls cm gl

Options :

1. ¥ 2h

2. % 4h

3. ¥ 2h/3

4. % 3h/2

Question Number : 58 Question Id : 1034351472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marks obtained in six subjects by six students is given in the table. Marks in bracket are Maximum marks.
The marks obtained by student A in subject M are how many times the percentage marks obtained by student F in subject S?

Subject
Student
H[150) s(200) (150 E{200) Hn[100) M{200)

A 75 110 a0 140 75 170

B 105 130 5 130 &0 140

c o5 105 ED 150 a0 160

D E5 115 a5 125 65 135

E 115 135 110 145 70 125

F 120 160 96 110 55 145
Options :
1. %25
2. % 4725

3.¥ 2,125



4. % 1215

Question Number : 58 Question Id : 1034351472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¢ BF gR1 B8 a5l # UTed 3ie d1fciehT § fU U § | 1§ | U TN i iy sidb |
o M T B A §RIUTW 31, fava s & S F gRT U U= 3ieh! BT fod T 1 82

e LD
H[150) s(200) (150 E{200) Hn[100) M{200)

A 5 110 a0 140 75 170
B 105 130 75 130 50 140
C 95 105 BOD 150 a0 160
o BS% 115 95 125 65 135
E 115 135 110 145 70 125
F 120 160 96 110 55 145

Options :

1. %25

2. % 4725

3.9 2.125

4, % 1.215

Question Number : 59 Question Id : 1034351473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line graph below shows production of 3 companies over the years (in crores).
What was the percentage increase in production by company R from 2015 to 2016?



—=—Company P —=CompanyQ —-=—Company R

70 70

Production of 3 companies
&

30
20 -
10 4
[1]
2013 2014 2015 2016 2017
Year

Options :
1. % 30%
2. % 40%
3. % 50%
4. % 70%

Question Number : 59 Question Id : 1034351473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= fean mor Y@ urw ant § (1S #) 3 Hufal F Ide B gXiar g
2015 ¥ 2016 d DU R gRT IdTeA § Uferrd gfg fobat e
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Options :
1. % 30%
2. ¥ 40%
3. % 50%
4. % 70%

Question Number : 60 Question Id : 1034351474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of female and male employees across five different companies A, B, C, D, and E.

What is the difference between the total number of female and male employees together in the company A and the total number of female and
male employees together in company C?



¥ Male ® Female

B00

700 =
700 -
600 550
500 -
400 -
300 -
200 -
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Number of employees

Company

Options :
1. % 60
2. % 55
3. % 40
4. ¥ 50

Question Number : 60 Question Id : 1034351474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
! e o IR 7 Ui fafts Sufat A, B, ¢, D, 3R E & AT 3R TN HHaTRAl &1 68l & g |
HUT A T T AfaT 3R T3N HHaATRA! &) $d BT 3R SOt ¢ T fAemes A 3R T3 HHATRA! &1 $d I & i b1 3R
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Options :
1. % 60
2. % 55
3. % 40
4. ¥ 50
General English
Group Number : 4
Group Id : 10343576
Group Maximum Duration : 0
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Edit Attended Group? : No
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General English

Section Id : 10343576
Section Number : 1

Section type : Online
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Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343590
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 1034351475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Have you ever/ thought about a/ cruise to Bahamas?
Options :

1. # Have you ever

2. % thought about a

3. % cruise to Bahamas?

4. # No Error

Question Number : 61 Question Id : 1034351475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Have you ever/ thought about a/ cruise to Bahamas?
Options :



1. # Have you ever

2. % thought about a

3. % cruise to Bahamas?
4. % No Error

Question Number : 62 Question Id : 1034351476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Charles was an odd/ character who Kelly/ had never really taken to.
Options :

1. # Charles was an odd

2. % character who Kelly

3. #* had never really taken to.

4. ¥ No Error

Question Number : 62 Question Id : 1034351476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Charles was an odd/ character who Kelly/ had never really taken to.
Options :

1. # Charles was an odd

2. % character who Kelly

3. * had never really taken to.

4. % No Error

Question Number : 63 Question Id : 1034351477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Gathering up the debris, she stuffed it (into her pocket to dispose in the galley bin below).
Options :

1. ¥ into her pocket to dispose of in the galley bin below

2. # into her pocket to dispose at the galley bin underneath

3. % into her pockets to dispose at the galley bin below

4. ® No correction required

Question Number : 63 Question Id : 1034351477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Gathering up the debris, she stuffed it (into her pocket to dispose in the galley bin below).
Options :

1. ¢ into her pocket to dispose of in the galley bin below

2. % into her pocket to dispose at the galley bin underneath

3. # into her pockets to dispose at the galley bin below

4. ® No correction required

Question Number : 64 Question Id : 1034351478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Often the (initial struggles of such a program shows a passionate) commitment which somehow overcomes many an uncertainty and lack.
Options :
1. # initial struggles of such an programs show a passionate

2. # initial struggles of such a programs show a passionate



3. ¢ initial struggles of such programs show a passionate

4. # No correction required

Question Number : 64 Question Id : 1034351478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Often the (initial struggles of such a program shows a passionate) commitment which somehow overcomes many an uncertainty and lack.
Options :

1. * initial struggles of such an programs show a passionate

2. * initial struggles of such a programs show a passionate

3. % initial struggles of such programs show a passionate

4. # No correction required

Question Number : 65 Question Id : 1034351479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

The book, with compelling lucidity, draws the reader into a rare mix of scholarship and sheer readability.
Options :

1. # expedite

2. % aphrodite

3. # incondite

4. ¥ erudite

Question Number : 65 Question Id : 1034351479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice



The book, with compelling lucidity, draws the reader into a rare mix of scholarship and sheer readability.
Options :

1. # expedite

2. % aphrodite

3. #* incondite

4. ¥ erudite

Question Number : 66 Question Id : 1034351480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Sirens wailed their mournful as they raced towards the hotel.

Options :

1. # converge
2. % forge

3. % scourge
4. ¥ dirge

Question Number : 66 Question Id : 1034351480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Sirens wailed their mournful as they raced towards the hotel.

Options :

1. # converge
2. # forge

3. % scourge
4. ¥ dirge

Question Number : 67 Question Id : 1034351481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The point is not

P. my poor business
Q. relationship, not
R. lawyering is a

S. acumen, but that

a commodity.
Options :

1. # PSQR
2. % QPRS
3. ¥ PSRQ
4. % RPQS

Question Number : 67 Question Id : 1034351481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The point is not

P. my poor business
Q. relationship, not
R. lawyering is a

S. acumen, but that

a commodity.
Options :

1. ®* PSQR
2. # QPRS
3. ¥ PSRQ



4. % RPQS

Question Number : 68 Question Id : 1034351482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

During the 15 years after the Suez disaster, Britain divested itself of most colonial holdings and abandoned most power positions in Africa and
Asia.

P. And in 1971 Britain left the Persian Gulf.

Q. After 1974 Britain moved rapidly to grant independence to its Black African colonies.
R. In 1958 the pro-British monarchy in Iraq fell.

S. During the 1960s Cyprus and Malta became independent.

One British colony, Southern Rhodesia (now Zimbabwe), broke away unilaterally sometime in 1965.
Options :

1. ¥ RPSQ

2. % RQSP

3. % PSRQ

4. ¥ RSPQ

Question Number : 68 Question Id : 1034351482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

During the 15 years after the Suez disaster, Britain divested itself of most colonial holdings and abandoned most power positions in Africa and
Asia.

P. And in 1971 Britain left the Persian Gulf.

Q. After 1974 Britain moved rapidly to grant independence to its Black African colonies.
R. In 1958 the pro-British monarchy in Iraq fell.

S. During the 1960s Cyprus and Malta became independent.



One British colony, Southern Rhodesia (now Zimbabwe), broke away unilaterally sometime in 1965.
Options :

1. # RPSQ

2. % RQSP

3. ¥ PSRQ

4. ¥ RSPQ

Question Number : 69 Question Id : 1034351483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

precipitate
Options :
1. % hinder
2. % debris
3. # silt

4. % waste

Question Number : 69 Question Id : 1034351483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

precipitate
Options :
1. ¥ hinder
2. % debris
3. # silt

4, % waste

Question Number : 70 Question Id : 1034351484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

terse
Options :

1. # verbose
2. % laconic
3. # subside
4. % allay

Question Number : 70 Question Id : 1034351484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

terse
Options :

1. # verbose
2. ¥ laconic
3. % subside
4. % allay

Question Number : 71 Question Id : 1034351485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ protagonist

2. % protaganist

3. % protagnist

4. ® protaginist



Question Number : 71 Question Id : 1034351485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ protagonist

2. # protaganist

3. % protagnist

4. ¥ protaginist

Question Number : 72 Question Id : 1034351486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. % torpor

2. % supplant

3. # gsynthesize

4. ¥ presurcor

Question Number : 72 Question Id : 1034351486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. * torpor

2. % supplant

3. # synthesize

4. ¥ presurcor

Question Number : 73 Question Id : 1034351487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Have an axe to grind

Options :

1. # Intelligent people think like each other

2. % Strange or crazy actions that appear meaningless but in the end are done for a good reason
3. # Partially deaf, not able to hear well

4. ¥ To have a dispute with someone

Question Number : 73 Question Id : 1034351487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Have an axe to grind

Options :

1. # Intelligent people think like each other

2. # Strange or crazy actions that appear meaningless but in the end are done for a good reason
3. # Partially deaf, not able to hear well

4. ¥ To have a dispute with someone

Question Number : 74 Question Id : 1034351488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

From rags to riches

Options :

1. # Approximately, almost, somewhat, to a certain degree

2. % To state a fact so there are no doubts or objections

3. # Someone who is unpredictable and can cause damage if not kept in check

4. ¥ To go from very poor to being very wealthy



Question Number : 74 Question Id : 1034351488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

From rags to riches

Options :

1. # Approximately, almost, somewhat, to a certain degree

2. # To state a fact so there are no doubts or objections

3. % Someone who is unpredictable and can cause damage if not kept in check

4. ¥ To go from very poor to being very wealthy

Question Number : 75 Question Id : 1034351489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A funeral procession
Options :

1. # Creche

2. % Beckon

3. % Bastion

4. ¥ Cortege

Question Number : 75 Question Id : 1034351489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A funeral procession
Options :
1. # Creche



2. % Beckon

3. # Bastion

4. ¥ Cortege

Sub-Section Number : 2
Sub-Section Id : 10343591
Question Shuffling Allowed : Yes

Question Id : 1034351490 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

The Great Hanshin earthquake, or the Kobe earthquake as it is more commonly known overseas, was an earthquake in Japan that measured 7.2
on the Japanese Scale. It occurred on January 17, 1995 at 5:46 am 52 seconds in the southern part of Hyogo Prefecture and lasted for
approximately 20 seconds. The epicentre of the earthquake was on the northern end of Awaji Island, near the cosmopolitan city of Kobe with a
population of 1.5 million. A total of 6,433 people, mainly in the city of Kobe, lost their lives. Additionally, it caused approximately ten trillion
yen in damages. It is listed in the Guinness Book of Records as the costliest natural disaster. It was the worst earthquake in Japan since the Great
Kanto earthquake in 1923, which claimed 140,000 lives.

Sub questions

Question Number : 76 Question Id : 1034351491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How long did the Kobe earthquake last for?
Options :

1. * 52 seconds

2. ¥ 20 seconds

3. * 1 minute

4. % 39 seconds

Question Number : 77 Question Id : 1034351492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



It is stated in the passage that the epicentre of the Kobe earthquake was

Options :

1. ¥ on the Northern end of the Awaji Island
2. # on the southern part of Hyogo Prefecture
3. # in the Kobe City

4. ® near Japan

Question Number : 78 Question Id : 1034351493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the cost associated by the Kobe earthquake in damages?
Options :

1. ¥ Approximately hundred trillion yen

2. % Approximately hundred million yen

3. ¥ Approximately ten billion yen

4. ¥ Approximately ten trillion yen

Question Number : 79 Question Id : 1034351494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the list of the worst earthquakes to hit Japan, where does the Great Hanshin earthquake rank?
Options :

1. % fourth

2. # third

3. % first

4. ¥ second

Question Number : 80 Question Id : 1034351495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. ¥ The Great Kanto earthquake hit Japan in 1923.



2. ¥ The Kobe earthquake is commonly known as the Great Hanshin earthquake by the rest of the world.
3. % A total of over 6000 lives were lost in the Great Hanshin earthquake.
4. # The worst earthquake to hit Japan was the Great Kanto earthquake taking 140,000 lives.

Question Id : 1034351490 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

The Great Hanshin earthquake, or the Kobe earthquake as it is more commonly known overseas, was an earthquake in Japan that measured 7.2
on the Japanese Scale. It occurred on January 17, 1995 at 5:46 am 52 seconds in the southern part of Hyogo Prefecture and lasted for
approximately 20 seconds. The epicentre of the earthquake was on the northern end of Awaji Island, near the cosmopolitan city of Kobe with a
population of 1.5 million. A total of 6,433 people, mainly in the city of Kobe, lost their lives. Additionally, it caused approximately ten trillion
yen in damages. It is listed in the Guinness Book of Records as the costliest natural disaster. It was the worst earthquake in Japan since the Great
Kanto earthquake in 1923, which claimed 140,000 lives.

Sub questions

Question Number : 76 Question Id : 1034351491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How long did the Kobe earthquake last for?
Options :

1. # 52 seconds

2. % 20 seconds

3. % 1 minute

4. # 39 seconds

Question Number : 77 Question Id : 1034351492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
It is stated in the passage that the epicentre of the Kobe earthquake was

Options :
1. ¥ on the Northern end of the Awaji Island



2. % on the southern part of Hyogo Prefecture
3. % in the Kobe City

4. ® near Japan

Question Number : 78 Question Id : 1034351493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the cost associated by the Kobe earthquake in damages?
Options :

1. ¥ Approximately hundred trillion yen

2. # Approximately hundred million yen

3. % Approximately ten billion yen

4. ¥ Approximately ten trillion yen

Question Number : 79 Question Id : 1034351494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the list of the worst earthquakes to hit Japan, where does the Great Hanshin earthquake rank?
Options :

1. # fourth

2. % third

3. % first

4. ¥ second

Question Number : 80 Question Id : 1034351495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. #® The Great Kanto earthquake hit Japan in 1923.

2. ¥ The Kobe earthquake is commonly known as the Great Hanshin earthquake by the rest of the world.
3. % A total of over 6000 lives were lost in the Great Hanshin earthquake.

4. # The worst earthquake to hit Japan was the Great Kanto earthquake taking 140,000 lives.
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Question Number : 81 Question Id : 1034351496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy & IR ol 7 @ 39 faey &1 9a &3 ot fau U IfY - fowde weg & Il IfY &1 dpeu 3|




§:+qﬁmﬂﬂ
Options :

1. % gURATH
2. ¥ GUIRUMY
3. % guRumm
4. % GEURATH

Question Number : 81 Question Id : 1034351496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeiad uy & IR fowedl & T 39 faswey &1 w9 &9 ot fau e Y - fowde Wisg & T8t IfY o1 faweu g |
g: + TR

Options :

1. % GURARA
2. ¢ GURUMY
3. % guiRoumg
4. % GEURAH

Question Number : 82 Question Id : 1034351497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofafed gy o aR fawedl 7 9 39 fowed &1 997 &1 Sl QU 7T 99 UG &1 Ual [dug 8l |
fifeer

Options :

1. % ol R

2. % ¢RAT g S Rt &I

3. ¢ It (Udd) ) 4RO B ara Srfd o
4, % R4 p fog



Question Number : 82 Question Id : 1034351497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefed gy o R famedl 7 ¥ 39 fawed o1 997 &1 Sl QU 7T 94 g &1 Ue! [AUg 81 |
fReR

Options :

1. % ol R

2. % RATE ol AT &1

3. ¢ IR (Udd) 1 4RO S arar S7dfd H
4. % R & fou

Question Number : 83 Question Id : 1034351498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy IR fowdl 7 @ 39 oy &1 9g &3 oY faw 17U Iy & Iel IfY - fowe 2ieg &1 fdweu 3|
JGIDPR

Options :

1. ¢ Ufd + TSR
2. % Uid + SHUDR
3. % Jfd + BR

4. % Ufd + JHR

Question Number : 83 Question Id : 1034351498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy &, 9R fowddl 7 9 39 fadwey &1 9g &3 ot AT 17U I & Uel OfY - fawse 2reg &1 fdweu 3|
UGUPRR

Options :
1. ¢ Ufd + SUBR




2. % g + SRR
3. % Ufd+ PR
4. % Yfd + OpR

Question Number : 84 Question Id : 1034351499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafea oy o IR fawedt o 9 39 faded &1 997 &% off Iu9f T el 8|
Options :

1. # gla}

2. % YT

3. ¢ ARG

4. % HHAR

Question Number : 84 Question Id : 1034351499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Froffad uy & TR el # Q 39 fdbed o1 997 B o SU9T Wed T8l ¢ |
Options :

1. # {lax

2. % AYHT

3. ¢ dRa

4. % HUAAR

Question Number : 85 Question Id : 1034351500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy ¥ IR fowddl 7 @ 39 fawed &1 999 &3 S U Usg &1 ot fddhed 81 5 |
Options :

1. % WYaR

2. % Unpdl




3. % ggdH
4. YT

Question Number : 85 Question Id : 1034351500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy IR el 7 @ 39 Ay &1 99 &3 S U Usg &1 et f[adped T8I § |
Options :

1. % JUGR

2. % Uohdl

3. ¥ HoOdH

4. TAdad

Question Number : 86 Question Id : 1034351501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed v & TR fawenl # 9 39 fadhed &1 T B Sl sk T & el 312 &1 fddbed g |

3UTG - HTITd
Options :

1. ¥ R TP, ATH RS
2. % URY , IRING HY
3. % I, 9=
4. % Yo, FMde

Question Number : 86 Question Id : 1034351501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffaa Uy & aR fowedl & T 39 faewed &1 999 &3 ol Ueg TH & el Y &1 fddhed g |

YT - 3TUTd
Options :




1. ¢ R AP, BB
2. % URY , IRING HF
3. % IR, =
4. % Yo, FMde

Question Number : 87 Question Id : 1034351502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy &, aR fowdl 7 @ 39 fawed &1 9g &3 S a1eieT & folt U TMeg &1 gl fdweu 3 |
T T e

Options :

1. % 3N

2. % Oy

3. ¢ T

4. % g

Question Number : 87 Question Id : 1034351502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 7 IR fodl 7 @ 39 fadwey &1 9g 3 S a1eier & fofu Ueh e, &1 I8! fdweu 3 |
SUIEIRIG]

Options :

1. % 3N

2. % 7oAy

3. ¢ iay

4. % YH

Question Number : 88 Question Id : 1034351503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafafea uy & TR fowedl § T 39 fasrey &1 999 o3 o fAU 17U e &1 el Tl arer fasea g |

Hqarc
Options :

1. % I
2. % Yad!
3. % I

4.« U

Question Number : 88 Question Id : 1034351503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa uy & aR fowedl & I 39 fawed &1 999 &3 ol fIU T Usg &1 el Wi are fdwed § |

qHic
Options :

1. % QI
2. % Yadt
3. % T

4. ¢ QYA

Question Number : 89 Question Id : 1034351504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad uy & TR el # 3 39 fdobey o1 987 B S Tg aTed &1 98l [adpeu B |
Options :

1. % T g0 BT UT|

2. ¢ ISl A odl & T 31 P |

3. % g gHAR Y 7Tel g1

4. % Hfmt s g |



Question Number : 89 Question Id : 1034351504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRea Uy & TR fawedl § 3 39 fadhed &1 909 $1 ol Y& a1 $I 951 [Adhed g |
Options :

1. % T Y FaT |

2. ¢ HIATSH A Tl & [T 3T HeT |

3. % U8 GAR ¥ T8I gl

4. % Hfgrf w1 e |

Question Number : 90 Question Id : 1034351505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy IR ol 7 @ 39 fadey &1 9g &3 oY AT 70 a1e & TR & Ve o1 el f[aheu g |
et ofa &% e Wdie g g |

Options :

1. ¢ WA AR

2. % oy ar

3. % ggad die

4. % faYyHarES I

Question Number : 90 Question Id : 1034351505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy ¥ IR fowdl 7 @ 39 faded &1 9g9 &3 5 AT 7T a1a0 & UHR & e &1 el fahed g |
et e &% I Big I § |

Options :
1. ¢ I dI]
2. % Uy e

3. % gYod i




4. % QYIS aT

Question Number : 91 Question Id : 1034351506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 7 IR fowcdl 7 @ 39 oy &1 9a &3 5 AT 70 are & Uel & Y &1 98! fAweu 3 |
T T W IR TIG |

Options :

1. % 3YEAdD
2. % YIIfd Thdd

3. ¢ IRYIYdH

4. % HgaEy®

Question Number : 91 Question Id : 1034351506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy & IR fowddl 7 @ 39 faded &1 9a &3 oY AT 17U a1ag & uef & W &1 Ug! fAweu 3 |
JTTA WA TG |

Options :

1. % NARTIIdPH
2. % TIfd Odd

3. ¥ IRYIAH

4. % AIdEIYD

Question Number : 92 Question Id : 1034351507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy o aR fawedl O T 39 faded &1 o+ &< N faR1 forg god d1e &1 Ha! fabed 81 |
Options :

1. % S - AT, ToTiden, 3iifes, Qo 31 ,311fe fawal & oot 4 sgam e




2. ¢ Y - grATfore, Jetiae, 3fdfes, T 3 3nfe fawdl & ol @ seda w1 R |
3. % O - grATfores, IS, 3, g 314 ;sife fawat & aoht T Igad 38T 7 |
4. % S - AT, T, 3iifes, qrama 3, 3nfe fawal & doht § sgama g

Question Number : 92 Question Id : 1034351507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered uy & IR faswedl # 4 39 fadhed &1 9 &3 it fav g gad a1 o1 gl fddbed oY |
Options :

1. % S - I, Jerifae, e, amma 39, 3nfe fawat & aoft § seara 3 e’

2. ¢ S - grIoTe, IS, 3nfdes, arra 3, 3nfe fawal & ool @ Sarg 3neTg |

3. % O - grAToTes, ST, 3, I 14 ;sife fawal & doh I g 3 IET 8 |

4. % S - GTHTSTD, IS, 3T, JraT=a I, 3Mfe fawal & ol 3 searg 38T g "

Question Number : 93 Question Id : 1034351508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed vy & ,aR fowedl 4 9 39 fdded &1 99 &1 o1t faR1 g gad 91 &1 gl fadhed g |
Options :

1. ¢ SIEAMER fade 3 BT, » WRIS §HRT SFHRYg e R g |

2. % AR faeies A HaT, " WRIS AR SRg 3HfUeR g

3. % SR fode 3 Hel, " WRIS AR STHRIG UPR B |

4. % FIFTMER fAdd 3 FBT, WRIS §HRT THRIG SMIBR B |"

Question Number : 93 Question Id : 1034351508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy & R fowedl O T 39 fadwed &1 o= &< SN R foig god d1e &1 Hel fabea 81 |
Options :

1. ¢ SR fadies 3 HgT, " WRIS gHRT SFHRIG IR & |"

2. % SR fIdd 3 HaT, " TR §ART SHRIg SfIPR g




3. % FIEIER fdd® A HeT, " WRIS AR STHRIG UPR g |
4. % TR fadd 3 HaT, TWRIS §ART THRIG PR B |"

Question Number : 94 Question Id : 1034351509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & TR fawed # T 39 fawed &1 9 &3 off fu T8 ggrar & wet o aran fawea g |

IR NIRE N
Options :

1. % SIYTGR BT
2. % SO A

3. ¢ SYAR BT
4. % ggdcs el

Question Number : 94 Question Id : 1034351509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffed Uy & TR fawed § O 39 fadhed &1 9g- &< off fU T8 ggrar & wet o aran fawed g |

Had! T W
Options :

1. % YT BT
2. % ST BT

3. ¢ 3YdeH B
4. % ggdcg el

Question Number : 95 Question Id : 1034351510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoliad Uy & IR foeel & T 39 fobcy &1 7= &1 ot feu U iopifad & T8t 3rf arern faea §




o W o 91 57 gt 99 a1 9t 94 gt

Options :

1. % S 3{U-T 51 dIST S{UAT TH A PR |

2. % B, HE A& emar Rl

3. % fodlt ot snepiemt 9ea ot el gl

4. ¢ TS B B O S & 1y NS} 3R g1 ot g oft St B

Question Number : 95 Question Id : 1034351510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy & IR foweal 7 @ 39 fadey &1 9g7 &3 o feu U dieifad & It 3 arar fdweu §
e R oY Gt 1 gt 98 Tar I w7 firdh

Options :

1. % OF Ut 81 IS 3(UHT Th A B |

2. % B, W & T B

3. % fpdft Y el T&a Ot Y Bl

4.« IS T A I & Ty NSt 3R 71 +ft g ot S 3

Sub-Section Number : 2
Sub-Section Id : 10343593
Question Shuffling Allowed : Yes

Question Id : 1034351511 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

3 fou 7 T @ earydes Ue 3R U Y et o1 waaH SR I |

GHY -Fep 1 711 ST ASHA & | STB! TMTa H ST & [FHY BT e FRAR Ml T8l © 311 39eT 4 el & [59 SR Bl s i ag
¥ bt o fpat § forddt off U &7 3faRie Id 81 Uohdl § [ THT B1 1fd S(ET8 U I I I8 8,394 (RaRdl ¢ | afe 7 Bt
HUfy T IR I8 81 OITE ) G+ § URYH , U@ Ud Uy 9 98 S8 UH: U R o fobeg il g3 SHY Y: 109 g1 311 §ehal | 311U 18 ol
TG &1 o B 1Al B Y IR Ghd ¢ AR A18 < SUBT IguanT ot o Iahd & , o a8 3ueht Iafd H IR gl ol 9ahdl &[99 &




FguanT & € Sfia &) gddr &1 ew (e 8 [HOR A - 7e1qey gU E .3 9+l 97 &1 9gualT 3 & HRUT €l 59 U8 IR Ugd b
& [P B! I TR YU BT g1 THadl BT I8 ¢ [T d1d o IR T8 & g1y R4ard 94Tdd & $ g1 311

Sub questions

Question Number : 96 Question Id : 1034351512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG D1 1A DI ST T HgT TG 2
Options :

1. ¢ AR IAdT|dT 7 |

2. % JHY THIIC U HRd1 g |

3. % IR BI T DI AP THaAT g |

4. % Ih b JHM AT 81 81 | |

Question Number : 97 Question Id : 1034351513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AWH - THY 3R 4 H 7 3R T g 2
Options :

1. ® ST AHd 5, THI ST G |

2. % YT EH YN ST S THY YT IS g |
3. % Y9 gHY & 1Y T IEd1 § |

4. ¥ TRT Y e Iohdl & .G g |

Question Number : 98 Question Id : 1034351514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TGUINT ‘& i Xeq TG 2
Options :

1. % YN

2. % JUIN

3. GO



4. % UM

Question Number : 99 Question Id : 1034351515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTYSY! A TG &1 I9ANT b foeaT 2
Options :

1. % HTH B! R RH J HIb

2. ¢ HBH HI JAT TR IUF HID

3. % QIR Y DI HAM

4. % TEH T IR

Question Number : 100 Question Id : 1034351516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3gwe & e Ifud s ol |
Options :

1. ¢ JHY P Howd

2. % UYIdY ol JHY

3. % 9 3R ¢

4. % UEIYSY] BT SildA

Question Id : 1034351511 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

) fau U e Y earYdes Ug SR U 7Y Uil T gataH SR I |

TG A%k DI 1A do! Sgyd %|3ﬂaﬁﬂﬁrﬁwaﬁ%|ﬂuumdw AR Tfaefid Igar g bwﬂlsﬂqolﬂﬁﬂﬁr%ﬁﬁwmﬁcblslﬁd%g
¥% bl § Wﬁ%“—ﬁwm&mﬁadwﬂﬁﬂmm% fegama FIR STy &7 A Tt T § 2T FRART ¢ | afe AT i
GURY U IR T8 1 ST a1 GHd & URYW , 50 Ud Gy Q95 I G W B o b STell g IHa I arrq“\:r:ré’raﬂwwrrqm%a‘r
Wﬁwﬁﬁaﬁﬁwmﬂaﬁ%aﬁ?a@ﬁmwmmﬂﬁ% oY 98 3! IAfA H IR dle T Fohdl § [GHd &




FguanT & € Sfia &) gddr &1 ew (e 8 [HOR A - 7e1qey gU E .3 9+l 97 &1 9gualT 3 & HRUT €l 59 U8 IR Ugd b
& [P B! I TR YU BT g1 THadl BT I8 ¢ [T d1d o IR T8 & g1y R4ard 94Tdd & $ g1 311

Sub questions

Question Number : 96 Question Id : 1034351512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG D1 1A DI ST T HgT TG 2
Options :

1. ¢ AR IAdT|dT 7 |

2. % JHY THIIC U HRd1 g |

3. % IR BI T DI AP THaAT g |

4. % Ih b JHM AT 81 81 | |

Question Number : 97 Question Id : 1034351513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AWH - THY 3R 4 H 7 3R T g 2
Options :

1. ® ST AHd 5, THI ST G |

2. % YT EH YN ST S THY YT IS g |
3. % Y9 gHY & 1Y T IEd1 § |

4. ¥ TRT Y e Iohdl & .G g |

Question Number : 98 Question Id : 1034351514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TGUINT ‘& i Xeq TG 2
Options :

1. % YN

2. % JUIN

3. GO



4. % UM

Question Number : 99 Question Id : 1034351515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTYSY! A TG &1 I9ANT b foeaT 2
Options :

1. % HTH B! R RH J HIb

2. ¢ HBH HI JAT TR IUF HID

3. % QIR Y DI HAM

4. % TEH T IR

Question Number : 100 Question Id : 1034351516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3gwe & e Ifud s ol |
Options :

1. ¢ JHY P Howd

2. % UYIdY ol JHY

3. % 9 3R ¢

4. % UEIYSY] BT SildA
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 1034351517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is equal to the divergence of the gradient of a scalar quantity ¢ ?
Options :

1. ¥ v2¢

2. % Vo

3. % v

4. % v/ ?

Question Number : 101 Question Id : 1034351517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & § oF O e e Af ¢ & Taurar AfSte) & TR & SRR 82

Options :



1. ¥ V3¢
2. % Vo

3. % v
4. % v/ p?

Question Number : 102 Question Id : 1034351518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If three vectors A, B, and C are defined by A =11+ 1j + 1k, B=2i+2j + 2k , C = 3i + 3j +3k with 1,J,k being the unit vectors along x, y and z
axes respectively. Then which one of the following is true for (AxB) C.

Options :

1. # 20 cubic units
2. # 10 cubic units
3. % 0 cubic units
4. # 40 cubic units

Question Number : 102 Question Id : 1034351518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R AT IR A, B, IR CBIA = 1i+ 1j+ 1k, B=2i +2j + 2k, C = 3i + 3j +3k GRT URHIT fpar Sman 8, SaH 1, j, k, x, y 3R 2 3161 & Y
RN SHIS G ¢ | o FEfRad T ¥ M 91 (AxB) C & T I |

Options :

1. % 209 3PS

2. % 10 9T SPTS

3. 0T 3PS

4. % 40 TSP

Question Number : 103 Question Id : 1034351519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the deforming force is applied parallel to the surface over a body ,then the stress experienced by the body is called



Options :

1. # Tensile stress

2. # Normal stress
3. ¥ Tangential stress

4. ¥ Compressive stress

Question Number : 103 Question Id : 1034351519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ot fifie IR Udg & JHHIcR faede ad T ST 7, < fUS gRT $ryd fod T8 ufded &1 w1 o 8
Options :

1. ® god ufded

2. % Y ufdad
3. TR ufdsa
4. % gutes Ufdad

Question Number : 104 Question Id : 1034351520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A body of mass 1kg moves in a circular path of radius 1m and makes 20 rps then the angular momentum of the body is
Options :

1. ¢ 125.68kgm?/s

2. % 22kem?/s

3. % 20.42kgm?/s

4. % 25 42kgm?/s

Question Number : 104 Question Id : 1034351520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G 1kg BT TH S BT 1m & GAHR Ty & TAHM 8 3R 20 rps SHIAT § ot fis &1 Pivfig W g

Options :



1. ¥ 125.68kgm?/s
2. % 22kgm?/s

3. ® 20.42kgm?/s
4. ® 25 42kgm?/s

Question Number : 105 Question Id : 1034351521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A battery of a scooter has an e.m.f of 8 V . If internal resistance of the battery is 0.2 2, what is the maximum current that can be drawn from the
battery?

Options :
1. % 80 A
2.9 40 A
3. % 60 A
4. % 70 A

Question Number : 105 Question Id : 1034351521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HR DI TH IA H 8 V Bl e.m.£ 5| Al S BT 3ARD TlRIY 0.2Q 7, T ot F SHTUGHaH fara-T 4RT Gt ST avehl 57
Options :

1. % 80 A

2.9 40 A

3. % 60 A

4. % 70 A

Question Number : 106 Question Id : 1034351522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A circular coil of 100 turns and radius 1 x 1072 m carries a current of 20 ampere then the magnetic moment of the coil 1s
Options :



1. % 0.012Am?
2. % 0.8Am?
3. % 620Am?>
4. ¥ 0.628Am?

Question Number : 106 Question Id : 1034351522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

100 gHTG 3R B3S41 1 x 102 m B! TH JAHR FHait § 20 TRRR B YRT YGIed ikl & dl Hadll b1 gad i ATl §

Options :

1. % 0.012Am?
2. % 0.8Am?
3. % 620Am?
4. ¥ 0.628Am?

Question Number : 107 Question Id : 1034351523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An infinitely long conducting wire carries the current of 10 ampere , then the magnetic field at a distance of 2m from the conductor is
Options :

1.¥10x1077T

2.% 1x1077T

3.%100x1077T

4. %1000 1077 T

Question Number : 107 Question Id : 1034351523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3d dd Yagdh dR & 10 TRRR ST YRT UG1Rd gieit 8, d I1ed I 2 m B gl IR 9B & gl o

Options :



1.¥10x10°7T
2.% 1x1077T
3.% 100x1077T
4.% 1000 x 107 T

Question Number : 108 Question Id : 1034351524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If length = 1m then, SI unit of specific rotation of a solid is
Options :

1. % rad

2. % rad(m)™!

3. # rad(mm)™!

4. # rad(m)

Question Number : 108 Question Id : 1034351524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Il EE = 1m 2, 1 T 319 & FARy o &1 s15078 &
Options :

1. % rad

2. ¥ rad(m)!

3. % rad(mm)!

4. ® rad(m)

Question Number : 109 Question Id : 1034351525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The equivalent focal length of two thin lenses of focal lengths 0.30m and 0.10m kept at a distance of 0.2m is given by
Options :

1. % 0.25m



2. % 0.12m
3.4 0.15m
4. % 0.30m

Question Number : 109 Question Id : 1034351525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.2m BT G TR TG T 0.30m 3R 0.10m BB g3 & &1 T AT 1 THG BIobd TaTs (7 gRI S TS §
Options :

1. * 0.25m

2. % 0.12m

3.4 0.15m

4. % 0.30m

Question Number : 110 Question Id : 1034351526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The differential form of Gauss law in magnetostatics is
Options :

1.¥"VB=0

2.%* VD=p

3. # VxE=-0B/ot

4. % VxH=J+0oD/ot

Question Number : 110 Question Id : 1034351526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RR Frafpd! & ey & a9 &1 sfadhd wu §

Options :
1.¥"VB=0
2.%VD=p



3. ¥ VxE=-0B/ot
4. % VxH=J+0D/ot

Question Number : 111 Question Id : 1034351527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is an expansion of a periodic function f(x) in terms of an infinite sum of sines and cosines.
Options :

1. # Vector

2. % Fourier series

3. # Laurent's series

4. % Power series

Question Number : 111 Question Id : 1034351527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3T Bl f(x) BT 3d G P TY H T3 3R HIodl T TR 7
Options :
1. % gfgar
2. ¢ %Y gt
3. % dReC g9
4. % 91d guit

Question Number : 112 Question Id : 1034351528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The product of two odd functions is
Options :

1. ¥ Even

2. % 0dd

3. % Zero



4. % Constant

Question Number : 112 Question Id : 1034351528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 fawH el 1 UM §

Options :

1. 44

2. % fayH

3. %

4. % (gdicd

Question Number : 113 Question Id : 1034351529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The amount of heat required to raise the temperature of the whole body (mass m) through 1°C or 1K is called as
Options :

1. # Latent heat

2. % Thermal capacity

3. ¥ Vapour pressure

4. % Sublimation

Question Number : 113 Question Id : 1034351529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R g & IIHM (Ge@HM m) BT 1°C TT 1K dF d¢MH & [T Tagd 301 &1 AT I BT olTdl §
Options :

1. % T JEAT

2. ¢ AU YTiar

3. ® diY] qId

4. % IATE (FITERH)




Question Number : 114 Question Id : 1034351530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The energy radiated per unit area is called
Options :

1. % Thermal energy

2. % Power

3. # Radiant energy

4. ¥ Radiant power

Question Number : 114 Question Id : 1034351530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 3PTs &% H fAfdhiRd ol DI HeT oidl o
Options :

1. % SR &l

2. % feRd

3. % faferor Sl

4. ¢ fafeor Trfe

Question Number : 115 Question Id : 1034351531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sudden burst of the tube of bicycle tyres is an example of an process.
Options :

1. # Isothermal

2. % TIsochoric

3. ¥ Adiabatic

4. # Cyclic

Question Number : 115 Question Id : 1034351531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1gfdhd & TRRI &1 S BT SAMD Bl TR &1 U IaTeR0T 5 |
Options :

1. ® QHA

2. % IHIBING

3.V TG

4. % Iy

Question Number : 116 Question Id : 1034351532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is a combinational logic circuit designed to switch one of several input lines to a single common output line.
Options :

1. ¥ Multiplexer

2. % Demultiplexer

3. #¥ Half adder

4. ® Full adder

Question Number : 116 Question Id : 1034351532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH IIoH ditore IRy g o &5 379e A8l & 9 Th &I R H1A 33cye A IR Rad &4 & fod fEeime fosar man

|
Options :
1. ¢ Sgddbdd
2. % fagdhdd (SHCIRR)
3. % 3¢ Ooid
4. % qUf gl

Question Number : 117 Question Id : 1034351533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
is the instrument in which output is free from the clock signal.
Options :
1. ¥ Asynchronous counter
2. # Synchronous counter
3. % Flip flop
4. % Half adder

Question Number : 117 Question Id : 1034351533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
98 IUHRUT ¢ Forad 3M3eye Faie fRud I gad gl |
Options :
1. ¢ 3JAPIID (TRIHI) B3
2. % gD (RiTTeh=) Hr3c
3. % foeIY TATg
4. % 3¢ Ui

Question Number : 118 Question Id : 1034351534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The IC is used as a relaxation oscillator.
Options :

1. % 555

2. % 454

3. % 600

4. % 353

Question Number : 118 Question Id : 1034351534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



IC___ 1 3UgNT JeteRIR Glefeh ob 0 H fobarl STell 81
Options :
1. ¥ 555
2. % 454
3. % 600
4. ¥ 353

Question Number : 119 Question Id : 1034351535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The set, obtained by adding to an open connected set, its boundary points is called as
Options :

1. # Compact set

2. % Limit point

3. % Interior points

4. ¥ Closed domain

Question Number : 119 Question Id : 1034351535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 T o1l fohdt Gat (310 TaifoTd I § 39 T fargsif &1 Siie IR Ui 811 €, 39 Hel ol §
Options :

1. # Hidc =

2. % HHih

3. % 3fiaie® fdg

4. ¢ §3 (FIeS) UaA

Question Number : 120 Question Id : 1034351536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following denotes symmetry property of delta function?



Options :

1. ¥ 3 (x-a) = d (a-x)
2. % 5 (x-a)=0

3. % 5 (x-a)=0 (x)
4, % 3 (x-a)=x

Question Number : 120 Question Id : 1034351536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafIRed & I DI Seel Bar &1 ISl 101 HI R 82

Options :
1. ¥ 3 (x-a) = d (a-x)
2. % 5 (x-a)=0
3. % 3 (x-a) =3 (x)
4. % §(x-a)=x
Discipline2
Group Number : 7
Group Id : 10343579
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Number of Questions to be attempted : 20
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Question Number : 121 Question Id : 1034351537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thr relation between alpha particle and its velocity of emission is given by
Options :

1. ® R=av

2. ¥ R=av’

3. % R=ay?

4. ® R=av?

Question Number : 121 Question Id : 1034351537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T HU 3R I I AT (AAIIT 3i1th TRF) & st gaie 9 gri fear mar g

Options :

1. % R=av
2. ¥ R=av’
3. % R=av?
4. % R=av*

Question Number : 122 Question Id : 1034351538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of emission of electrons from a metal plate ,when illuminated by the light of suitable wavelength is called
Options :

1. ¥ Photo electric effect

2. # Hall effect

3. % Faraday effect

4. # Glasser effect

Question Number : 122 Question Id : 1034351538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢Td P! W Y SATCH] B Ioi Bt Uichdl, e IuYFd el & UHTR J USRI 8l 8, 39 Hel ol &
Options :

1. ¢ UbTRI-faggd gyTd

2. ® BIAYHId

3. % URIS UHTd

4. % TR YYHId

Question Number : 123 Question Id : 1034351539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is the ratio of r.m.s value of A.C. component to the D.C. component in the rectifier output.
Options :

1. ¥ Ripple factor

2. # Rectifier efficiency

3. #® Voltage regulation

4. ¥ Average power

Question Number : 123 Question Id : 1034351539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fETHRY 3M3eye T A.C. ICH & r.m.s HF BT D.C. UeH ¥ U 5 |
Options :

1. ¢ SH® FRS
2. # fqPeRI qem
3. % dicedl A&
4. % 3gd Yfed

Question Number : 124 Question Id : 1034351540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solar cell uses effect.
Options :

1. # Hall effect

2. % Electric effect

3. ¥ Photovoltaic effect

4, % Accordion effect

Question Number : 124 Question Id : 1034351540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R I THTG HT STINT HAT 5 |
Options :

1. % gl UYHId

2. % faggd yuIg

3. UHIY dice 1 U4
4. % 3[BISIT YHT

Question Number : 125 Question Id : 1034351541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the splitting of a spectral line in presence of the magnetic field.



Options :

1. # Electric effect
2. ¥ Zeeman effect
3. % Hall effect

4. ® Magnetic effect

Question Number : 125 Question Id : 1034351541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o1 &F & Iurufa H qulsig Yt @1 fausH ]
Options :

1. % faggd yyd

2. ¢ S gHTG

3. % g gy

4. % YD GHId

Question Number : 126 Question Id : 1034351542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the effect caused by the inelastic scattering of high-energy photons that interact with free or loosely bound electrons.

Options :

1. # Hall effect

2. % Compton effect

3. % Photoelectric effect
4. # Electric effect

Question Number : 126 Question Id : 1034351542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3-3oll BIeH & IR THI0H (FAARED IHTiT) & HRUT G aTel THIG § o ad a1 RIFYd ¥ 9 §iferd gaaei-i &
1Y 3iq:(haT HRAT 5|
Options :




Question Number : 127 Question Id : 1034351543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The potential between a pair of atoms is called
Options :

1. ¥ Interatomic potential

2. % Electric potential

3. ® Magnetic potential

4. ® High potential

Question Number : 127 Question Id : 1034351543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRATYSH & i & o< faHa &1 bl ol &
Options :

1. ¢ SIR-URHTUGD &HT

Question Number : 128 Question Id : 1034351544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An instrument allows the molecular structure of a material to be analyzed by observing and measuring the interaction of nuclear
spins when placed in a powerful magnetic field.

Options :



1. ¥ NMR
2. % MRI
3. # Oscillator

4. * Counter

Question Number : 128 Question Id : 1034351544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% qre Wfeaemet 9 & o T S TR URHTY] Tash U1 () Bt 3ic:fohdl o) ey 3R ATUehR ATt &t T SRaT
&1 TIRAT0T 3 B A ST B |

Options :

1. ¥ NMR

2. ¥ MRI

3. % QI

4. ® PR

Question Number : 129 Question Id : 1034351545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The maximum energy that the free electron can have at the absolute zero degree of temperature is called
Options :

1. # Nuclear energy

2. ¥ Fermi energy

3. # Electron energy

4. # Quantum energy

Question Number : 129 Question Id : 1034351545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HfYHTH SHoil Sl RA Y TSI Ao R o Saiae- | 81 9ohdl §, 39 dal oldl §

Options :

1. % ORATY SHoll




2. ¢ BHl SHull
3. % SAdCH Soll

4. % HicH Sl

Question Number : 130 Question Id : 1034351546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is that distance below the surface of a conductor where the current density has diminished to 1/e of its value at the surface.
Options :

1. ¥ Skin depth

2. % Refractive index

3. # Plasma frequency

4. % Relaxation time

Question Number : 130 Question Id : 1034351546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AP DI TAG b A1d DI Gl § oT8T g UR YRT I IeHR 1/e BT AT 5 |
Options :
1. ¢ JURER TERIS
2. % JUIcidH
3. % TITSHT SMqhd
4. % JARIIH T

Question Number : 131 Question Id : 1034351547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is the frequency at which the electrons in the plasma naturally oscillate relative to the ions and typically has values between 2
and 20 MHz for conditions in Earth's ionosphere.

Options :
1. ¥ Plasma frequency



2. % Medium Frequency
3. % Ultra High Frequency
4. # High Frequency

Question Number : 131 Question Id : 1034351547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 319 3 foR IR wirod § Saae 4 WIHTae U § 3! & el QI Hd & SR AHAR R Jdt & arsa o fufadt &
foT 2 3R 20 MHz & ST A BT & |

Options :

1. ¢ WIS g
2. % AYH 3Mq

3. % W3 3R
4, % I 3R

Question Number : 132 Question Id : 1034351548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to postulates of statistical mechanics all the cells in phase space are size.
Options :

1. ¥ Equal

2. % Maximum

3. ¥ Minimum

4. % Moderate

Question Number : 132 Question Id : 1034351548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GRS TiADBT & NJTTH & TR ol FHE T T SIfRbY HR &I g |
Options :

1. ¥ dR[aR



2. % HgwH
3. % gAqH
4. % A

Question Number : 133 Question Id : 1034351549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Maxwell - Boltzmann statistics total energy of all the particles in the entire system is
Options :

1. ¥ Maximum

2. ® Zero

3. # Infinity

4. ¥ Constant

Question Number : 133 Question Id : 1034351549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Naqd-SlecqHH & TRD! & AR IR Riew § T+t Hof &1 Sl §
Options :

1. % HgdH

2. % Y

3. % 3Fd

4. ¢ [gdice

Question Number : 134 Question Id : 1034351550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mass number is given by the formula
Options :

1. ¥ Proton + Neutron

2. % Proton - Neutron



3. #* Neutron X Proton
4. % Proton + Electron

Question Number : 134 Question Id : 1034351550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SO T Y G g1 & oIt
Options :

l. M@?\I%H:q@%[

2. % Y - g

3. % G2 x UieH

4. % mzh+gaaa’:{

Question Number : 135 Question Id : 1034351551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the mass of an electron?
Options :

1. % 9.109x10 1 g

2.9 9.109x10 3! Kg

3. % 9109x10 OKg

4. % 9.109 Kg

Question Number : 135 Question Id : 1034351551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STC I BT SoTHH T 82

Options :

1. % 9.109x10 31 g

2.¥9.109x10 31 Kg

3. % 9.109x10 O Kg




4. % 9109 Kg

Question Number : 136 Question Id : 1034351552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is De Broglie hypothesis?

Options :

1. % A=hxp

2. % )=h/c

3. ¥ \=h/p

4. % A=p/h

Question Number : 136 Question Id : 1034351552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S1-siNTelt URep eI T g2

Options :

1. # A=hxp

2. ® X=h/c

3. ¥ \=h/p

4. % )=p/h

Question Number : 137 Question Id : 1034351553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are Aliphatic Hydrocarbons?

Options :

1. % They have carbon and hydrogen in ring form

2. % They have carbon and hydrogen in cylindrical form
3. % Carbons and Hydrogens are in straight chain

4. ® Carbons are in ring form and hydrogen are in straight chain



Question Number : 137 Question Id : 1034351553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uferthes TS ImTa o 82

Options :

1. % I7H g9 & U H H1e 3R gIEgoH o

2. % 0 SR U H ST 3R gIgoH o

3. ¢ HIa 3R GRS o Wiell g H §

4. % He IAT ET T BId € 3R gRSoH diht AT gid &

Question Number : 138 Question Id : 1034351554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are unsaturated hydrocarbons?

Options :

1. # Hydrocarbons having oxygen

2. # Hydrocarbons having nitrogen

3. #® Hydrocarbons having single bond

4. ¥ Hydrocarbons having double or triple bonds

Question Number : 138 Question Id : 1034351554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRITW (SITRICS) IS IDHIa T 62
Options :

1. % SRS gad g8 sidlad

2. % qIEIoH gad SR gIdhIaH

3. % UHd 3MEY a1 TS SIbTa

4. 97 1 fe0d 918 aTdl 8IS SIdbIa-

Question Number : 139 Question Id : 1034351555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the molecular formula of benzene?
Options :

1. ® CyHy

2. ¥ C¢Hg

3. #* CHy

Question Number : 139 Question Id : 1034351555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SSii BT 3MTuTfaes G T B2

Options :

1. ®* CyHy

2. ¥ C¢Hg

3. #* CHy

4. % C¢Hyy

Question Number : 140 Question Id : 1034351556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is reducing sugar?
Options :

1. * sucrose

2. # trehalose

3. ¥ lactose

4. * raffinose

Question Number : 140 Question Id : 1034351556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad 3 9 & @ sraerh b 22

Options :

1. % ZERIHRT
2. % ¢gdN
3. ¥ daerd
4. % e
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 1034351557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following test is not given by the reducing sugar?
Options :

1. # Fehling's Test

2. # Tollen's Test

3. % Benedict Test

4. ¥ Carbylamine Test

Question Number : 141 Question Id : 1034351557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fraferiad & & 1 a1 oieor Sruamdt JET gRT e o S 82
Options :

1. % ol TRigr

2. % I TRIEI

3. % SRS TRigm

4. & PIETSATHISA Y&l

Question Number : 142 Question Id : 1034351558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If AH and AS are both positive at low temperature in the expression AG = AH - T A S then the reaction is
Options :

1. # Equilibrium

2. % Spontaneous

3. % Non-spontaneous

4. % Non-equilibrium



Question Number : 142 Question Id : 1034351558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AH 3R AS SFI 81 G = AH - TAS 3if¥aafad & &H dUHM UR ¢S § di SifNfpar g
Options :

1. % Hga

2. % dd:

3. ¢ TR Wa:

4. % IRGgeH

Question Number : 143 Question Id : 1034351559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of Joule-Thomson coefficient for an ideal gas?
Options :

1. %1

2.9 0

3.% 2

4, % 3

Question Number : 143 Question Id : 1034351559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3Rl T & forT S[@- AT Ul 6T | 1 81T 82
Options :

1. %1

2.0

3.% 2

4. %3




Question Number : 144 Question Id : 1034351560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The expression for internal pressure of a real gas is
Options :

1. # a/V

2. % a2xV

3. % 2a/Rb

4. a/V?

Question Number : 144 Question Id : 1034351560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARAD T & AR o1d BT AN 7
Options :

1. ® a/V

2. % a2xv

3. # 2a/Rb

4. a/V?

Question Number : 145 Question Id : 1034351561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The expression for the Kohlrausch Law is given as
Options :

1. ¥ A~=\°(cation)+\°(anion)

2. ® A.~=\°(cation)-A°(anion)

3. #® A ~\°(cation)/\°(anion)

4. % A ~\°(cation)xA°(anion)

Question Number : 145 Question Id : 1034351561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HIRISY FIgH & e sifirafad s USRS e @

Options :

1. % A =N (YUATIA)+A(TATI)
2. % ASA(UATRIT)-L°(TATA)
3. ® AAN(YUATIT)/AC(TATT)
4, & A AN(YATIA) <\ (TATTH)

Question Number : 146 Question Id : 1034351562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kohlrausch Law is applicable to

Options :

1. # strong electrolyte

2. % weak electrolyte

3. ¥ strong as well as weak electrolytes

4. % clear solution

Question Number : 146 Question Id : 1034351562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIRISY o A g1 §

Options :

1. % Ooqd faggad suucy

2. % FHOeIR fdggd sfygey

3. ¢ HOgd 3R 1Y 81 HHCIR fdggd sigged
4. % Wy faaa

Question Number : 147 Question Id : 1034351563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is wrong with respect to Kohlrausch law?
Options :

1. ® It is used to calculate Degree of dissociation

2. % It is used to calculate Dissociation constant for weak electrolyte
3. # It is used to calculate solubility of moderate salts

4. ¢ it is used to calculate the molarity

Question Number : 147 Question Id : 1034351563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafied & @ & 91 HIaRey FoH & dey § 7dd 82

Options :

1. % TP IUANT fadior &t fSU &1 70T o forg fopan Sirar 8

2. % TPHT IYIN HHOIR [dggd-3uded & g fagier fadie &1 o & o forar Srar g
3. % ZYHI IGUNT HeOH U] P Ga-=ITerd! &1 0T & fore forar ST 8

4. ¥ ZHHT IYINT IRl $1 0T & g foaar Sirar 8

Question Number : 148 Question Id : 1034351564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ligands in the coordination compounds are
Options :

1. ¥ Lewis Bases

2. % Lewis Acids

3. # Bronsted Acid

4. ® Bronsted Base

Question Number : 148 Question Id : 1034351564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



-9y Al | foris @
Options :

1. v 59 &R

2. % Y 3

3. % §IRCS 3

4. % IS &R

Question Number : 149 Question Id : 1034351565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the following coordination compound K4[Fe(CN)g]
Options :

1. # Potassium Hexacyanidolron (III)

2. ¥ Potassium Hexacyanidoferrate (II)

3. % Potassium Hexacyanidoferrate (I1I)

4. % Potassium Hexacyanidolron (II)

Question Number : 149 Question Id : 1034351565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed SugsHdlere AT BT ATH TdIST K 4[Fe(CN)¢]

Options :

1. % QIR TR RS IERA (1)

W
#
f.él)
4
AL
ap
cn')
b
~V

T (1)
4. % OICRYY FRMRMASISMRA (1)

Question Number : 150 Question Id : 1034351566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following ligands have denticity 2?



Options :

1. # ClI

2. % EDTA

3. ¥ Ethane-1,2-diamine
4. % OH

Question Number : 150 Question Id : 1034351566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofafed # § fey forfs 7 Siefydt 2 82
Options :

1. #® Cl

2. ®* EDTA

3. ¢ 3 -1,2-STHTEH

4. % OH

Question Number : 151 Question Id : 1034351567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the [IUPAC name of this halogenated compound CH,CH,CH,Br ?
Options :

1. ¥ 1-Bromopropane

2. % 2-Bromoethane

3. # 4-Bromopropane

4. % Propane Bromide

Question Number : 151 Question Id : 1034351567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 gAoMes A& CH,CH,CH,Br T IUPAC -TH &1 82

Options :



1. ¢ 1 SEYuT
2. % 2. §HRdH
3. % 4FHOUA
4. % YO SRS

Question Number : 152 Question Id : 1034351568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the reaction involving Alkyl halide heating with metallic fluorides to undergo halogen exchange?
Options :

1. # Sandmeyer's reaction

2. ¥ Swarts reaction

3. * Finkelstein reaction

4. % Wurtz reaction

Question Number : 152 Question Id : 1034351568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 ST BT T T § o TehIsd gaigs &l Ul FIRIZS & 1Y TH b garel [ai-aa BT STl g7
Options :

1. % YSURR &1 SHffohar

2. ¢ W@y HYfehar

3. % fhorarers ffHichan

4. % qco ffiiferar

Question Number : 153 Question Id : 1034351569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the reaction in which aldehyde or ketone with no alpha-H reacts with hydrazine to form hydrazone which is followed by
hydrolysis to give the Alkane as the final product?

Options :

1. # Aldol condensation



2. % Hoffman Bromide reaction
3. # Clemmensen reduction
4. % Wolff-Kishner reduction

Question Number : 153 Question Id : 1034351569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 HTNfHAT &1 1 1 & S H TS e3s AT PIcH o1 Sehl-H & g eI & A1 HTUTHIT dRcb BIESTel- a-Idl ¢ o alg e
&1 SifaT ITE & T H 37 F forg refta faweryor grar 82

Options :

1. % UeSIed ga-

2. % BIHUA SRS SHfufoman

3. % FRAHG 3T

4. ¢ Jp-fHTR U=T

Question Number : 154 Question Id : 1034351570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The terpenoids having three isoprene units is
Options :

1. # Diterpenes

2. % Monoterpenes

3. ¥ Sesquiterpenes

4. # Triterpenes

Question Number : 154 Question Id : 1034351570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a3 Sl ard euAISS

Options :

1. % Sledig




2. % AU
3. ¢ AU
4, % T[ZRUN

Question Number : 155 Question Id : 1034351571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many carbons are present in the Tetratarpenes?
Options :

1. # 20 Carbons

2. ¥ 40 Carbons

3. % 30 Carbons

4. # 10 Carbons

Question Number : 155 Question Id : 1034351571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SCTeRUH H faha H1e HING 82
Options :

1. % 20 HIaA

2. ¥ 40 FIaA

3. % 30 BleA

4. % 10 BIe

Question Number : 156 Question Id : 1034351572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the expression for the Gibbs Phase rule?
Options :

1. ¥ F=C-P+2

2. % F=P-C+2



3. # F=C-P-2
4. = F=P-C-2

Question Number : 156 Question Id : 1034351572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
freg Tt w6 forg sifenfad o &2
Options :

1. ¥ F=C-P+2

2. % F=P-C+2

3. * F=C-P-2

4. % F=P-C-2

Question Number : 157 Question Id : 1034351573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of degree of freedom for the composition reaction of CaCO3?
Options :

l.%3

2.% 2

3.¢ 1

4.% 0

Question Number : 157 Question Id : 1034351573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CaCO; BT TR ST & T Wrd= Hife &1 AF 1 52
Options :

1. %3

2.% 2

3.1



4. %0

Question Number : 158 Question Id : 1034351574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The base value of Homoannular Diene in UV-Visible spectroscopy is
Options :

1. # 205 nm

2. % 215 nm

3. % 214 nm

4. % 253 nm

Question Number : 158 Question Id : 1034351574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tei-fafSrerer Wag a1t & SSeR STeE 3T YR A1 3 _
Options :

1. % 205 nm

2. % 215nm

3. % 214 nm

4.4 253 nm

Question Number : 159 Question Id : 1034351575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The base value of ArCOR in the UV-Visible spectroscopy is
Options :

1. # 250 nm

2. % 230 nm

3. % 246 nm

4. % 215 nm



Question Number : 159 Question Id : 1034351575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gat-fafiiae Wag eIt & ArCOR &1 YR T §
Options :

1. # 250 nm

2. % 230 nm

3. % 246 nm

4. % 215 nm

Question Number : 160 Question Id : 1034351576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a s-block element?
Options :

1. * Na

2. % K

3. % Ca

4. ¥ 0

Question Number : 160 Question Id : 1034351576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 &F 91 s-siid dd el 67
Options :

1. # Na

2. % K

3. % Ca

4. ¥ 0
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 1034351577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following elements has a least density?
Options :

1. ®* Na

2.¥ K



3. % Rb
4. % Cs

Question Number : 161 Question Id : 1034351577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFraffad & 9 fora ac &7 o9 Ie9 HH 32
Options :

1. # Na

2.¥ K

3. * Rb

4. % Cs

Question Number : 162 Question Id : 1034351578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the electronic configuration of the Francium?
Options :

1. ¢ [Rn]7s!
2. % [Xe]6s!
3. % [Rn]6s!
4. % [Rn}4s!

Question Number : 162 Question Id : 1034351578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THITH &1 Saae - [a-aTe &l &2
Options :

1. ¢ [Rn]7s!

2. % [Xel6s!

3. % [Rn]6s!



4. % [Rn]4s!

Question Number : 163 Question Id : 1034351579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The expression for the Ostwald's Dilution Law for the very weak electrolyte is
Options :

1. * o=K/V

2. ¥ o=(KV)%

3. % a=KV

4. % V=Ka

Question Number : 163 Question Id : 1034351579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ffa HHSIR faggd sraued & fow siiedres agar fFaw @t sifiyeafad §
Options :

1. ® a=K/V

2. ¥ o=(KV)%

3. ® =KV

4. = V=Ka

Question Number : 164 Question Id : 1034351580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a states of matter?
Options :

1. * Solid

2. % Liquid

3. * QGas

4. ¥ Hapticity



Question Number : 164 Question Id : 1034351580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafed 5 3 1 91 gar 3 SaRiTt T8l 52
Options :

1. % 39

2. % %d

3. % 9

4. ¢ gIPRYS

Question Number : 165 Question Id : 1034351581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states shows the highest Kinetic energy in between their particles?
Options :

1. #* Solid

2. % Liquid

3. ¥ Gas

4. # Plasma

Question Number : 165 Question Id : 1034351581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRad o 9 HF I SaRITE 30 SN & did F=dd el Soil [G@rdl g2
Options :

1. % 39

2.%%d

3. ¢ 79

4. % TAHI

Question Number : 166 Question Id : 1034351582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ostwald's Dilution Law is applicable to calculate the parameter
Options :

1. # Molarity

2. # Molality

3. % Mole Fraction

4. ¥ Degree of Dissociation

Question Number : 166 Question Id : 1034351582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTad &1 0T & fod 3iReares addt fHad arg gl 8
Options :

1. % HieRdl

2. % HicTedl

3. % HI 3

4.« {qGISH D1 7=

Question Number : 167 Question Id : 1034351583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following network protocol is used to allot IPs automatically to users on the internet?
Options :

1. ¥ DHCP

2. % DNS

3. % HTTP

4. % 1IS

Question Number : 167 Question Id : 1034351583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFoffad & ¥ &9 91 Acdd Melhid S IR IUTNTH AT ol WaTferd 72U I [Ps 3fTdfed B3 P fort SuT fosar Sirdr g2
Options :

1. ¥ DHCP

2. % DNS

3. % HTTP

4. % 118

Question Number : 168 Question Id : 1034351584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Production of dumps, traces and error messages is a part of which function of OS?
Options :

1. % File Management

2. % Error detecting aids

3. # Security

4. ¥ Memory Management

Question Number : 168 Question Id : 1034351584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8, TN 3R TR AWl &1 Il 08 & g &1 &1 U fewan g2
Options :

1. % WT3a Heoie

2. ¢ IR fecfadnugy

3. % Ry

4. % AR BAeTHC

Question Number : 169 Question Id : 1034351585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT an operating system?



Options :

1. # Solaris
2. # MS-DOS
3. # Linux

4. ¥ JVM

Question Number : 169 Question Id : 1034351585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o ¥ SF 91 Y=o o ol 82
Options :

1. % Gy

2. # MS-DOS (TH.TY-S[9)

3. # forTag

4. ¥ JVM (S 91 TH)

Question Number : 170 Question Id : 1034351586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is a property of database transaction that states "it cannot be divided up any further"?
Options :

1. ¥ Atomicity

2. #® Consistency

3. % Isolation

4. % Durability

Question Number : 170 Question Id : 1034351586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed & I &9 1 SeTay ¢iaRM &1 T 0T § foras el 11§ fob 39 SiR 3iferes fautiord et fosan S gavar g2

Options :




1. ¢ 3eHuRyd
2. % HRRSY

3. % 3SYICRE
4, % SRfaferct

Question Number : 171 Question Id : 1034351587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is NOT a benefit of normalized relational database?
Options :

1. # Elimination of redundant data storage.

2. # Close modeling of real world entities, processes, and their relationships.

3. ¥ Makes database more efficient and
reliable.

4. ¥ Destructuring of data so that the model is flexible.

Question Number : 171 Question Id : 1034351587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ oF 1 A asss RaeHd Serey &1 aH &l 82
Options :

1. % 3G Sl YUl &l f[ddu- |

2. % T gos ufedt, ufsharalt 3iR I el T aediol ArSfelT|
3. % I B 3P HIW 3R Iy s g

4. ¢ ST DI Y HA1 diies AlSd Taliaad il

Question Number : 172 Question Id : 1034351588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What type of network is the Internet?
Options :

1. ¥ LAN



2. % MAN
3. ¥ WAN
4. % DAN

Question Number : 172 Question Id : 1034351588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
geAC ¥ UHR & cdd g7
Options :

1. ¥ LAN

2. ¥ MAN

3. ¥ WAN

4. ¥ DAN

Question Number : 173 Question Id : 1034351589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which layer of the OSI model performs LOGIN or password checking?
Options :

1. # Transport

2. # Network

3. ¥ Application

4. % Presentation

Question Number : 173 Question Id : 1034351589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OSI AISd P I I AR ANTST I1 Urgds afh T HRdl 82
Options :

1. % TRUe

2. % dcdd




3. ¢ TAIH A
4. % UofewH

Question Number : 174 Question Id : 1034351590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a category of multimedia?
Options :

1. # Linear

2. # Interactive

3. % Real-time

4. ¥ Static

Question Number : 174 Question Id : 1034351590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofafed 3 3 oF @ geciHifsar 31 o7 781 52
Options :

1. ® iR

2. % $eifaca

3. % fgd ey

4. ¢ Xfew

Question Number : 175 Question Id : 1034351591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the first layer in Multimedia Framework Architecture?
Options :

1. # Presentation Layer

2. % A/V Streams Control Layer

3. % MM Hardware CORBA Server Layer



4. ¥ MM Hardware and System Software Layer

Question Number : 175 Question Id : 1034351591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A IHifSar hHadh 3fdhearR & Ugdl AR &1 82
Options :

1. % YoleqM o

2. % A/V K hHeld R

3. % MM BTSAR HRAT FaR TR

4. ¢ MM BIERR 3R Ried AeddR TR

Question Number : 176 Question Id : 1034351592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the output of the following program?
public class Main{

Main() {

this(5);

h

Main(int x) {

this(5, 15);
System.out.println(x);

}
Main(int x, int y) {
System.out.println(x * y);

}

public static void main(String args[]) {
new Main();

b
}

Options :
1. % 525
2.9 755



3. % 75,15

4. % compilation error

Question Number : 176 Question Id : 1034351592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRaa W &1 3m3eye 1 g

public class Main{
Main() {

this(5);

}

Main(int x) {

this(5, 15);
System.out.println(x);

h
Main(int x, int y) {
System.out.println(x * y);

}

public static void main(String args[]) {
new Main();

}
b

Options :
1. % 525
2.9 755
3. % 75,15

4. % compilation error

Question Number : 177 Question Id : 1034351593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will be the output of following program?

public class Main{
Main() {



System.out.println("hi");

}

Main(int temp) {

System.out.println("I am from derived class"+" "+temp);

}

public static void main(String args[]) {
Main obj = new Main(5);

}

}

Options :
1. ¥ [ am from derived class 5

2. % ] am from derived class 5
I am from base class

3. # T am from base class
I am from derived class 5

4. % Welcome
I am from base class

Question Number : 177 Question Id : 1034351593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad URmd &1 3r3eye &1 g

public class Main {
Main() {
System.out.println("hi");

}
Main(int temp) {

System.out.println("I am from derived class"+" "+temp);
}

public static void main(String args[]) {

Main obj = new Main(5);

}

}

Options :



1. ¥ I am from derived class 5

2. ®* [ am from derived class 5
I am from base class

3. % ] am from base class
I am from derived class 5

4. % Welcome
[ am from base class

Question Number : 178 Question Id : 1034351594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the output of following program?
public class Main{

public static void main(String args[]){

int a=1;

for(;a<=4;)

System.out.println(a);

a=at2;

b

b

Options :

1. % 1234

2.% 1,3

3. ¥ It will print 1 infinite times

4. # Compilation error

Question Number : 178 Question Id : 1034351594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad URmd &1 3r3eye &1 g
public class Main {

public static void main(String args[]){
int a=1;

for(;a<=4;)

System.out.println(a);



a=at2;
}
}

Options :

1. % 1,2,34

2.% 1,3

3. ¥ g 1 3f+d IR fUic S

4. % Compilation error

Question Number : 179 Question Id : 1034351595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which method of Thread class in Python waits for threads to terminate?
Options :

1. # isAlive()

2. % start()

3. % run()

4. ¥ join([time])

Question Number : 179 Question Id : 1034351595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T2 H IS T &1 DI 1 e 95T & JHT 811 1 Uehie Bl 82
Options :

1. # isAlive()

2. # start()

3. % run()

4. ¥ join([time])

Question Number : 180 Question Id : 1034351596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which among the following is a correct way to write comments in Python?
Options :

1. % //First comment

2. ¥ # First comment

3. # "First comment"

4. % |First comment

Question Number : 180 Question Id : 1034351596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad o ¥ oF a1 urseH 1 fewoft foram &1 98! ahiol 82
Options :

1. # //First comment

2. ¥ # First comment

3. # "First comment"

4. % |First comment
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 1034351597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the output of following Python program?
a=[1,2,3,4,5]

a=a[3:-1]

print(a)

Options :

1. # [3,4,5]

2. % [4,5]

3. ¥ [4]

4. % Error

Question Number : 181 Question Id : 1034351597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAferRad UTS Y UIITH 1 313CYC T §RII?
a=[12345]

a=a[3:-1]

print(a)

Options :

1. ® [3,4,5]



2. % [45]
3.9 [4]
4. * Error

Question Number : 182 Question Id : 1034351598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person who sends, generates, stores or transmits any electronic message is called
Options :

1. ¥ Originator

2. % Intermediary

3. # Controller

4. ® Addressee

Question Number : 182 Question Id : 1034351598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Afad Sl PIg SAaC-H TR Holdl 8, S B 8, WR BT ¢ I TR HRl § 39 ERSIGIE
Options :

1. ¢ 3RS

2. ® TSI

3. % PR

% o

Question Number : 183 Question Id : 1034351599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If your laptop is infected by a malware after you opened an online advertisement, then what is it called?
Options :

1. # Phishing

2. * Cloning



3. ¥ Malvertising
4. # Exploit

Question Number : 183 Question Id : 1034351599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Afe SHTTeTsH Ao Biem & §1g SiTudhT duerd foreht AeraeR I Tshfid 81 S §, df 39 31 Hgd 8
Options :

1. % fOhMRf

2. % AT

3. ¢ HAARCTIGHT

4. % TaOWIisC

Question Number : 184 Question Id : 1034351600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following contains detailed information, lengthy derivations and raw experimental observations in a thesis dissertation?
Options :

1. % Acknowledgement

2. % Results

3. # Literature Cited

4. ¥ Appendix

Question Number : 184 Question Id : 1034351600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o ¥ forad te R fSudem d faxgd SHeRT, dell it 3R M TaTdS sfadidh- M 62
Options :

1. % THldSHS

2. % Rl

3. % folcyeR OIS




4. ¢ ISR

Question Number : 185 Question Id : 1034351601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which chapter of the Project report includes a thorough evaluation of the investigation carried out?
Options :

1. % Abstract

2. ¥ Result

3. # Conclusion

4. % Introduction

Question Number : 185 Question Id : 1034351601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aRETsHT RUIE & e sreama & &1 115 ST &1 718 Yo e 2 82
Options :

1. % dR

2. el

3. % fyspy

4. % GR=g

Question Number : 186 Question Id : 1034351602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Praneet wrote a paragraph in Microsoft Word document and encountered a sentence underlined with blue. What kind of error does it indicate?
Options :

1. # Spelling error

2. % Grammar error

3. # Kernel error

4. % Contextual error



Question Number : 186 Question Id : 1034351602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ga-t Ffe (@R TR

2. % B FC

3. % HHA A

4. ¢ UTAID T (HIgSHd TR)

Question Number : 187 Question Id : 1034351603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which function in PHP has no return value and is used to print statements?
Options :

1. # print

2. ¥ echo

3. % cout

4. ® void

Question Number : 187 Question Id : 1034351603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® fiie

2. ¥ 3Dl

3. % BI3C

4. % 9O



Question Number : 188 Question Id : 1034351604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which function in Microsoft Excel returns the number of characters in a string text?
Options :

1. ¥ CONCATENATE()

2. % CHAR()

3. % VALUE()

4. ¥ LEN()

Question Number : 188 Question Id : 1034351604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % CONCATENATE()

2. % CHAR()

3. % VALUE()

4. ¥ LEN()

Question Number : 189 Question Id : 1034351605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which group in Insert tab is used for plotting graphs in Excel?
Options :

1. % TIllustrations

2. % Charts

3. #® Graphs

4. % Tables

Question Number : 189 Question Id : 1034351605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IRCYA

2. ¢ 9E

3. % UYh

4. % Cqd

Question Number : 190 Question Id : 1034351606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the element gives developers a semantic way to identify navigation for a site?
Options :

R =hnawv:>

3 % <href>

4 % <section>

Question Number : 190 Question Id : 1034351606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|« <nav>

) % <a>



3 % <href>

4 % <section>

Question Number : 191 Question Id : 1034351607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an open source mobile operating system?
Options :

1. % Linux

2. % Android

3. ¥ Windows

4. ®* Macintosh

Question Number : 191 Question Id : 1034351607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % forod

2. ¥ UGS

3. % faS

4. % B

Question Number : 192 Question Id : 1034351608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an open source web browser?
Options :

1. # Avant



2. # Netscape Navigator
3. ¢ Firefox
4. % Opera

Question Number : 192 Question Id : 1034351608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3fdd

2. % 9Ty AR

3. ¢ BRRBIR

4. % 3ORT

Question Number : 193 Question Id : 1034351609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the final step in 3D graphics to assign colours to individual pixels in the 2D image called?
Options :

1. ¥ Rasterization

2. # Animation

3. ® Transformation

4. ® Projection

Question Number : 193 Question Id : 1034351609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TSR

2. % THERH



3. % CRIBIHIA
4, % g&qu

Question Number : 194 Question Id : 1034351610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a graphic program?
Options :

1. # Adobe Photoshop

2. % Adobe Illustrator

3. % Gimp

4. ¥ Adobe Acrobat

Question Number : 194 Question Id : 1034351610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3SIe BIeRIY (Adobe Photoshop)

2. % 3fSIdl sﬂ@,\?? (Adobe Illustrator)

3. % i (Gimp)

4. ¢ 3{SIdl Uplac (Adobe Acrobat)

Question Number : 195 Question Id : 1034351611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is an interface to kernel, which hides the complexity of kernel's functions from users in Linux operating system?
Options :

1. % User mode

2. % Shell

3. % Utilities



4. ¥ Hardware Abstraction Layer

Question Number : 195 Question Id : 1034351611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|. % goR OIS

2. ¥ 3

3. % gfeferdial

4. % TSI ASTAT TR

Question Number : 196 Question Id : 1034351612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which port is used by HTTP?

Options :

1. % 443

2. % 24

3. % 68

4. % 80

Question Number : 196 Question Id : 1034351612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 443

2. % 24

3. % 68

4. % 30



Question Number : 197 Question Id : 1034351613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the correct example for Scatter Plot in R?
Options :

1. # plot(as.matrix(mtcars))

2. % barplot(iris$Petal.Length)

3. # plot(AirPassengers,type="1")

4. ¥ plot(x=iris$Petal.Length,y=iris$Species)

Question Number : 197 Question Id : 1034351613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # plot(as.matrix(mtcars))

2. # barplot(iris$Petal.Length)

3. % plot(AirPassengers,type="1")

4. ¢ plot(x=iris$Petal.Length,y=iris$§Species)

Question Number : 198 Question Id : 1034351614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the correct way to import data from a comma delimited file using R?
Options :

1. # csv.reader("file.csv")

2. ¥ read_csv("file.csv")

3. % csv.DictWriter("file.csv")

4. % writerows("file.csv")

Question Number : 198 Question Id : 1034351614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # csv.reader ("file.csv")

2. % read_csv("file.csv")

3. # csv.DictWriter("file.csv")

4. #® writerows("file.csv")

Question Number : 199 Question Id : 1034351615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What dictates the UI and handles the user interaction with the smart phone screen in an Android application?
Options :

1. ¥ Activities

2. % Services

3. # Broadcast Receivers

4. % Content Providers

Question Number : 199 Question Id : 1034351615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Qigefdetsl

2. % gigasr

3. % SiedRe RAlaR

4. % Hdc UaESy

Question Number : 200 Question Id : 1034351616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The system calls callback when it's time for the fragment to draw its user interface for the first time in an Android application.
Options :

1. # onCreate()

2. ¥ onCreateView()

3. % onStart()

4. # onActivityCreated()

Question Number : 200 Question Id : 1034351616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * onCreate()

2. ¥ onCreateView()

3. % onStart()

4. % onActivityCreated()




